CANADIAN THESES ON MICROFICHE

THÈSES CANADIENNES SUR MICROFICHE



National Library of Canada Collections Development Branch

Canadian Theses on Microfiche Service

Ottawa, Canada K1A 0N4 Bibliothèque nationale du Canada Direction du développement des collections

Service des thèses canadiennes sur microfiche

NOTICE

The quality of this microfiche is heavily dependent upon the quality of the original thesis submitted for microfilming. Every effort has been made to ensure the highest quality of reproduction possible.

If pages are missing, contact the university which granted the degree.

Some pages may have indistinct print especially if the original pages were typed with a poor typewriter ribbon or if the university sent us an inferior photocopy.

Previously copyrighted materials (journal articles, published tests, etc.) are not filmed.

Reproduction in full or in part of this film is governed by the Canadian Copyright Act, R.S.C. 1970, c. C-30. Please read the authorization forms which accompany this thesis.

AVIS

La qualité de cette microfiche dépend grandement de la qualité de la thèse soumise au microfilmage. Nous avons tout fait pour assurer une qualité supérieure de reproduction.

S'il manque des pages, veuillez communiquer avec l'université qui a conféré le grade.

La qualité d'impression de certaines pages peut laisser à désirer, surtout si les pages originales ont été dactylographiées à l'aide d'un ruban usé ou si l'université nous a fait parvenir une photocopie de qualité inférieure.

Les documents qui font déjà l'objet d'un droit d'auteur (articles de revue, examens publiés, etc.) ne sont pas microfilmés.

La reproduction, même partielle, de ce microfilm est soumise à la Loi canadienne sur le droit d'auteur, SRC 1970, c. C-30. Veuillez prendre connaissance des formules d'autorisation qui accompagnent cette thèse.

THIS DISSERTATION HAS BEEN MICROFILMED EXACTLY AS RECEIVED

LA THÈSE A ÉTÉ MICROFILMÉE TELLE QUE NOUS L'AVONS REÇUE



| Ottawa Canada | |
|--|---|
| Ottawa, Canada K1A 0N4 | ISBN 0-315-21209.8 |
| | |
| | CE - SERVICE DES THÈSES CANADIENNES SUR MICROFICHE |
| Please print or type – Écrire en lettres moulées ou dactylograph | LM - AUTORISATION DE MICROFILMER |
| | UTHOR - AUTEUR |
| Full Name of Author - Nom complet de l'auteur | |
| JOHN JOSEPH M | IAYKO · |
| Date of Birth – Date de naissance | Canadian Citizen – Citoyen canadien |
| AUG 1. 1958 | , Ves / Oul No / Non |
| Country of Birth – Lieu de naissance | Permanent Address – Résidence fixe |
| CANADA | 4207 - 36 AUE |
| | EDMONTON, A'BERTA |
| • | T6L 3R8 |
| | THESIS - THÈSE |
| Title of Thesis – Titre de la thèse | |
| | |
| | |
| | |
| | |
| | |
| Ŷ. | |
| | |
| Grade pour lequel cette thèse fut présentée | Year this degree conferred Année d'obtention de ce grade |
| Grade pour lequel cette thèse fut présentée M , S_{C} , | Année d'obtention de ce grade 1985 |
| Grade pour lequel cette thèse fut présentée M. S.C. Jniversity – Université | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse |
| Grade pour lequel cette thèse fut présentée M.Sc. Jniversity - Université VNIVERSITY OF ALBERTA | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse K. W. DomiER |
| Grade pour lequel cette thèse fut présentée M.Sc. Jniversity - Université VNIVERSITY OF ALBERTA | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse |
| UNIVERSITY OF ALBERTA Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse K. W. Domier Atton – ÁUTORISATION A to L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. |
| Grade pour lequel cette thèse fut présentée M. S.C. Jniversity – Université UNIVERSITY OF ALBERTA AUTHORIZ Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. The author reserves other publication rights, and neither the thesis nor ex- ive extracts from it may be printed or otherwise reproduced without | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse <i>K.W.Domier</i> Ato L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. the L'auteur se réserve les autres droits de publication; ni la thèse ni de lon traits de celle-ci, ne doivent être imprimés ou autrement reproduits |
| Grade pour lequel cette thèse fut présentée M.S.C. Jniversity – Université UNIVERSITY OF ALBERTA AUTHORIZ Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. The author reserves other publication rights, and neither the thesis nor ex- ive extracts from it may be printed or otherwise reproduced without uthor's written permission. | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse <i>K.W.Domier</i> Ato L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION A to L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. the L'auteur se réserve les autres droits de publication; ni la thèse ni de lon traits de celle-ci, ne doivent être imprimés ou autrement reproduits l'autorisation écrité de l'auteur. |
| Grade pour lequel cette thèse fut présentée M.S.C. Jniversity – Université UNIVERSITY OF ALBERTA AUTHORIZ Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. The author reserves other publication rights, and neither the thesis nor ex- ive extracts from it may be printed or otherwise reproduced without uthor's written permission. ATTACH FORM TO THESIS – VEU | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse <i>K.W.Domier</i> Ato L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. the L'auteur se réserve les autres droits de publication; ni la thèse ni de lon traits de celle-ci, ne doivent être imprimés ou autrement reproduits |
| Grade pour lequel cette thèse fut présentée M. S.C. Jniversity – Université UNIVERSITY OF ALBERTA AUTHORIZ Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. The author reserves other publication rights, and neither the thesis nor ex- ive extracts from it may be printed or otherwise reproduced without uthor's written permission. ATTACH FORM TO THESIS – VEU | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse <i>K.W.DomiER</i> Ato L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION A to L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. ten- the L'auteur se réserve les autres droits de publication; ni la thèse ni de lon traits de celle-ci, ne doivent être imprimés ou autrement reproduits l'autorisation écrité de l'auteur. MILLEZ JOINDRE CE FORMULAIRE À LA THÈSE |
| Grade pour lequel cette thèse fut présentée M.S.C. Jniversity – Université UNIVERSITY OF ALBERTA AUTHORIZ Permission is hereby granted to the NATIONAL LIBRARY OF CANADA nicrofilm this thesis and to lend or sell copies of the film. The author reserves other publication rights, and neither the thesis nor ex- ive extracts from it may be printed or otherwise reproduced without uthor's written permission. | Année d'obtention de ce grade 1985 Name of Supervisor – Nom du directeur de thèse <i>K.W.DomiER</i> Ato L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION A to L'autorisation est, par la présente, accordée à la BIBLIOTHÉQUE NATION DU CANADA de microfilmer cette thèse et de prêter ou de vendre d emplaires du film. ten- the L'auteur se réserve les autres droits de publication; ni la thèse ni de lon traits de celle-ci, ne doivent être imprimés ou autrement reproduits l'autorisation écrité de l'auteur. MILLEZ JOINDRE CE FORMULAIRE À LA THÈSE |

THE UNIVERSITY OF ALBERTA

AN EVALUATION OF FERTILIZER APPLICATION SYSTEMS

by

JOHN JOSEPH MAYKO

A THESIS

SUBMITTED TO THE FACULTY OF GRADUATE STUDIES AND RESEARCH . IN PARTIAL FULFILMENT OF THE REQUIREMENTS FOR THE DEGREE

OF MASTER OF SCIENCE

IN

ENGINEERING AGROLOGY

DEPARTMENT OF AGRICULTURAL ENGINEERING

EDMONTON, ALBERTA

SPRING 1985

THE UNIVERSITY OF ALBERTA

<u>م</u>

RELEASE FORM

NAME OF AUTHOR JOHN JOSEPH MAYKO TITLE OF THESIS AN EVALUATION OF FERTILIZER APPLICATION

DEGREE FOR WHICH THESIS WAS PRESENTED MASTER OF SCIENCE YEAR THIS DEGREE GRANTED SPRING 1985

SYSTEMS

Permission is hereby granted to THE UNIVERSITY OF ALBERTA LIBRARY to reproduce single copies of this thesis and to lend or sell such copies for private, scholarly or scientific research purposes only.

The author reserves other publication rights, and neither the thesis nor extensive extracts from it may be printed or otherwise reproduced without the author's written permission.

(SIGNED)

ohn Marko

PERMANENT ADDRESS:

4207 - 36 AVENUE EDMONTON, ALBERTA T6L - 3R8

DATED april 19. 1985

THE UNIVERSITY OF ALBERTA FACULTY OF GRADUATE STUDIES AND RESEARCH

The undersigned certify that they have read, and recommend to the Faculty of Graduate Studies and Research, for acceptance, a thesis entitled AN EVALUATION OF FERTILIZER APPLICATION SYSTEMS submitted by JOHN JOSEPH MAYKO in partial fulfilment of the requirements for the degree of MASTER OF SCIENCE in ENGINEERING AGROLOGY.

K. w. Domier

Supervisor

April 18, 1985

ABSTRACT

Commercial fertilizers are an important input for improving returns from crop production. Various methods of applying fertilizers have been developed in order to place fertilizer in a specific position within the soil.

The effectiveness of different mathemotion of fertilizer placement varies due to soil, climatic and conflicer factors and time of application. In general application methods such as banding which concentrate configuration the soil are more effective than broadcast apploints.

Thirteen different fertilizer application ems wer studied with the aim of maximizing net revenue. Differences among the fertilizer application systems included types of equipment, method of fertilizer application, forms of fertilizer and time of fertilizer application. The impact of these differences upon time requirements, machinery requirements and costs, fertilizer costs and net revenue were calculated for three soil moisture conditions. Maximum net revenue for all three conditions was obtained from banding nitrogen fertilizer as anhydrous ammonia and applying phosphorus fertilizer in-row. Lowest net revenue was obtained by broadcasting all the fertilizer in the fall.

iv

ACKNOWLEDGEMENTS_

Firstly, I wish to thank my advisor, Dr. Ken Domier for all his help and guidance during my graduate work and especially during the preparation of this thesis.

Appreciation is extended to Alberta Agriculture for financial support of this project.

I also wish to thank my parents for all their support during my undergraduate and graduate years.

And last, but certainly not least, I wish to thank my wife Pat for all the patience and love that she has shown me in pursuit of my work.

| Table | of | Con | ten | ts |
|-------|----|-----|-----|----|
| | | | | |

| . * | | |
|-----|-----|---|
| | ` | |
| · | | Table of Contents |
| | Cha | pter Page |
| | 1. | INTRODUCTION |
| | 2. | LITERATURE REVIEW |
| - | | 2.1 IMPORTANCE OF FERTILIZERS TO CROP GROWTH |
| | - | 2.2 FERTILIZER PLACEMENT METHODS4 |
| | | 2.3 EFFECTIVENESS OF FERTILIZER PLACEMENT METHODS7 |
| | | 2.3.1 In-Row Placement) |
| 2 | | 2.3.2 Broadcast |
| • | | 2.3.3 Banding14 |
| | | 2.3.4 Sidebanding21 |
| | | 2.4 MACHINERY FOR FERTILIZER APPLICATION |
| | | 2.4.1 Broadcast Equipment |
| | | 2.4.2 Banding Equipment |
| • | | 2.5 SUMMARY OF LITERATURE REVIEW |
| | 3. | , SYSTEM DESCRIPTION |
| • | | 3.1 MACHINERY MANAGEMENT |
| | | 3.1.1 Machinery Capacities |
| | | 3.1.2 Machinery Costs |
|) | | 3.2 GENERAL ASSUMPTIONS |
| ÷ . | • | 3.3 MACHINERY DESCRIPTION |
| · · | 4. | TIMELINESS CONSIDERATIONS 48 |
| | 5. | SYSTEM OPERATION |
| | | 5.1 SYSTEM 1. N BROADCAST IN THE SPRING, P IN-ROW |
| • | | IN THE SPRING |
| | ï | 5,2 SYSTEM 2A. N BANDED IN THE SPRING WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING51 |
| | | 5.3 SYSTEM 2B. N BANDED IN THE SPRING WITH AIR SEEDER, P IN-ROW IN THE SPRING |
| | | vi |
| | | |

| | 5.4 | SYSTEM 3A. N BANDED IN THE FALL WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING53 |
|-------|----------------|---|
| | 5.5 | SYSTEM 3B. N BANDED IN THE FALL WITH AIR SEEDER, P IN-ROW IN THE SPRING |
| | 5.6 | SYSTEM 4A. GRANULAR N & P DEEP BANDED IN THE FALL |
| | 5.7 | SYSTEM 4B. LIQUID N & P DEEP BANDED IN THE FALL |
| | 5.8 | SYSTEM 5A. GRANULAR N & P DEEP BANDED IN THE SPRING |
| ×. | 5.9 | SYSTEM 5B. LIQUID N & P DEEP BANDED IN THE SPRING |
| | 5.10 | SYSTEM 6. N BROADCAST IN THE FALL, P IN-ROW IN THE SPRING |
| | 5.11 | SYSTEM 7. N & P BROADCAST IN THE FALL |
| | 5.12 | SYSTEM 8. N & P BROADCAST IN THE SPRING |
| | 5.13 | SYSTEM 9. N & P SIDEBANDED IN THE SPRING57 |
| 6. | FERTI ANALY | LIZER COSTS, CROP RETURNS AND GROSS REVENUE SIS |
| 7. | DISCU | USSION OF RESULTS |
| | 7.1 | TIME REQUIREMENTS |
| | 7.2 | MACHINERY COSTS |
| | 7.3 | FERTILIZER COSTS |
| | 7.4 | GRAIN YIELDS |
| | 7.5 | NET REVENUE |
| 8. | SUMMA | RY AND CONCLUSIONS |
| 9. | RECOM | MENDATIONS FOR FURTHER WORK |
| REFEF | RENCES | |
| APPEN | IDIX 1 | . POWER REQUIREMENTS OF VARIOUS CHISEL PLOWS |
| T | ESTED | BY PAMI |
| APPEN | DIX 2 | . SEED DRILL PARAMETERS AS TESTED BY PAMI99 |

.

.

. بن

vii[.]

viii

List of Tables

| Tab | le | Page |
|--------------|---|------|
| 4. 1 | NUMBER OF WORKING DAYS ON MEDIUM TO HEAVY SOILS FOR VARIOUS LOCATIONS IN ALBERTA | 50 |
| 6.1 | FERTILIZER EFFECTIVENESS RATINGS | 61 |
| 6.2 | GROSS REVENUE AND TOTAL COSTS UNDER LOW SOIL MOISTURE CONDITIONS | 62 |
| 6.3 | GROSS REVENUE AND TOTAL COSTS UNDER MEDIUM SOIL MOISTURE CONDITIONS | 63 |
| 6 . 4 | GROSS REVENUE AND TOTAL COSTS UNDER HIGH SOIL MOISTURE CONDITIONS | 64 |
| 7.1 | TIME REQUIREMENTS OF THE VARIOUS SYSTEMS (HOURS) | 66 |
| 7.2 | TIME REQUIREMENTS OF THE VARIOUS SYSTEMS (DAYS) | 67 |
| 7.3 | MACHINERY COSTS FOR THE VARIOUS SYSTEMS | 71 |
| 7.4 | FERTILIZER AND INTEREST COSTS FOR THE VARIOUS SYSTEMS | 73 |
| 7.5 | GRAIN YIELDS FOR THE VARIOUS SYSTEMS | 75 |
| 7.6 | NET REVENUE FOR THE VARIOUS SYSTEMS UNDER LOW SOIL MOISTURE CONDITIONS | 78 |
| 7.7 | NET REVENUE FOR THE VARIOUS SYSTEMS UNDER MEDIUM SOIL MOISTURE CONDITIONS | 79 |
| 7.8 | NET REVENUE FOR THE VARIOUS SYSTEMS UNDER HIGH SOIL MOISTURE CONDITIONS | 80 |

ix

List of Figures

| ` Figu | re Page |
|--------|---|
| 2.1 | CROSS SECTION OF SOIL PROFILE SHOWING FERTILIZER PLACEMENT POSITIONS RELATIVE TO THE SEED |
| 2.2 | CENTRIFUGAL BROADCASTER |
| 2.3 ° | DRIBBLE BROADCASTER |
| 2.4 | PNEUMATIC BROADCASTER |
| 2.5 | AIR SEEDER • |
| 2.6 | AMMONIA LIQUIFYING UNIT MOUNTED ON A CULTIVATOR |

1. INTRODUCTION

Chemical fertilizers have become an integral input for crop production in Western Canada. The increased use of fertilizers has enabled farmer's to improve their productivity by producing more crop from their existing land base.

Fertilizers are used to sustain and improve crop growth and are useful, over the long run, in sustaining and replenishing the levels of the various nutrients in the soil used by crops. The reduction in area devoted to summerfallow and an increase in continuous cropping techniques have also contributed to an increase in fertilizer use.

In the past decade, a number of developments have led to an interest in various methods of fertilizer application. The expansion of area seeded to oilseed crops such as flax and canola, which can only tolerate low amounts of fertilizer in-row, led to the technique of sidebanding where the fertilizer was placed a short distance away from the seed (Ukrainetz et al 1975). However, the lack of commercial seeding equipment with sidebanding capabilities forced farmers to seek other methods. With an increase in the use of anhydrous ammonia as a nitrogen source, some farmers believed that ammonia was a more efficient source of nitrogen. Further work was undertaken to investigate and determine whether ammonia was indeed a more effective source of nitrogen or whether superiority was due to the banded placement of ammonia in the crop rooting zone.

The introduction of air seeders and their resulting popularity has led many farmers to band all the fertilizer prior to seeding so that handling of fertilizer during seeding could be eliminated. These farmers were interested in the effectiveness of fertilizer applied in this manner.

As well, the fertilizer manufacturing and distribution industry has been promoting an increase in the amount of fertilizer purchased in the fall to reduce the time and transportation constraints of having to handle the entire amount of fertilizer during the spring. This strategy is desirable in terms of spreading out the flow of fertilizer from the factory to the farm over a longer time period. However, fall purchased fertilizer must be cost effective for the farmer to do so.

The objectives of this study were to analyze a number of different methods of fertilizer application as they

affect;

1. the capacity of the machinery used, -

- the time required to complete the machinery operations required for fertilizer application and for seeding,
- 3. the total costs of machinery required,
- the total cost of providing crop nutrients using different forms of fertilizer purchased either in the fall or the spring,

5, the impact on crop yields, and

6. the net return to the farming enterprise.

2. LITERATURE REVIEW

2.1 IMPORTANCE OF FERTILIZERS TO CROP GROWTH

In order to obtain high crop yields, the fertility_of the soil must be adequate. High levels of available plant nutrients in soils are needed to satisfy the growth requirements of crops and to increase crop tolerance to stress conditions such as drought, low temperature, salinity, root rots and other diseases (Beaton 1982).

Nitrogen (N) and phosphorus (P) are the essential elements to crop growth that are generally accepted to be deficient in most Canadian prairie soils. In the Prairie Provinces, about 90% of all the stubble cropland is deficient in nitrogen and all the cropland should receive some phosphorus (Beaton 1980). Other nutrients that are less commonly deficient are potassium (K) and sulphur (S). Potassium deficiencies occur on about 1.8 million hectares of prairie farmland and sulphur deficiencies occur on about another 1.8 million hectares (Beaton 1980). About 60 kg/ha of nitrogen, 11 kg/ha of phosphorus, 15 kg/ha of potassium and 6 kg/ha of sulphur are removed in the seed of typical wheat, oat and barley crops (Beaton 1980). Farmers must routinely apply sufficient amounts of fertilizers to compensate for these removals in order to continue to produce high yielding crops.

2.2 FERTILIZER PLACEMENT METHODS

Ø

Until approximately fifteen years ago, the application of fertilizers in Western Canada was a relatively simple practice. Phosphorus and nitrogen (up to about 20 kg/ha) were simply drilled in-row. If the nitrogen requirements were higher, then the fertilizer was broadcast on the soil surface and incorporated to avoid seed damage (Robertson et -al 1982).

Methods of fertilizer application presently practised in Western Canada can be grouped into the following categories (Figure 2.1);

- In-row, fertilizer is applied with the seed, at the time of seeding,
- 2. Broadcast, fertilizer is spread uniformly over the soil surface, with incorporation by a tillage operation,
- 3. *Top dressed*, fertilizer is broadcast on the soil surface without incorporation (used primarily for established forage crops),
- Banded, fertilizer is applied in a separate operation prior to seeding, and
- 5. Sidebanded, fertilizer is banded a specified distance from the seed both vertically and horizontally at the time of seeding.

The fertilizer application methods considered in this study were those that are used in the production of most



Figure 2.1 CROSS SECTION OF SOIL PROFILE SHOWING FERTILIZER PLACEMENT POSITIONS RELATIVE TO THE SEED annual crops in Western Canada. Since forage crops were not considered in this study, top dressing of fertilizer was not evaluated.

6

٥

ι

2.3 EFFECTIVENESS OF FERTILIZER PLACEMENT METHODS

The effectiveness of a fertilizer placement method is defined as the yield increase obtained by fertilizer applied by that particular method. Fertilizer efficiency is defined as the percentage yield increase of a particular fertilizer placement method as compared to a standard. The standard fertilizer placement method used in this study is nitrogen fertilizer broadcast in the spring and phosphorus fertilizer placed in-row in the spring.

2.3.1 In-Row Placement

In earlier years, Gray and Buckingham (1930) noted that in-row applications of phosphorus fertilizers at rates of 10 and 20 kg/ha of P were more effective than broadcast applications. Later work by Bole (1966) showed that in-row placement of P fertilizers resulted in increased phosphorus uptake as compared to fertilizer that was broadcast or sidebanded 2.5 cm to the side of the seed. Because of these findings and with the generally low amounts of fertilizers that were being applied to crops, the in-row placement was essentially the sole method of applying fertilizers for three or four decades (Robertson et al 1982).

During the past fifteen years several developments have stimulated interest in other methods of applying fertilizers. One of these was the expansion in area seeded

to oilseed and pulse crops. Many of these crops could tolerate only low amounts of fertilizers placed in the row (Ukrainetz et al 1975).

Work carried out by Dubetz et al (1959), Nyborg (1961), Nyborg and Hennig (1969) and Ukrainetz et al (1975) showed that application of large amounts of fertilizer in-row >affected germination. Nyborg and Hennig (1969) reported that up to 40 kg/ha of P and 35 kg/ha of N as ammonium nitrate could be applied in the row of cereal crops with no reduction in yields. However, they noted that placement of excessive amounts of fertilizer in the seed row (greater than 17 kg/ha of N or 20 kg/ha of P) damaged the germination of some crops, especially rapeseed and flax. They stated that damage was caused by a direct toxic effect and by decreased osmotic potential in the soil solution. The amount of damage varied with the kind of crop, fertilizer, soil texture, soil temperature and especially soil water content. They noted that injury to germination was largely avoided when the fertilizers were broadcast or when they were banded away from the seed row.

Bailey et al (1980) stated that in-row applications of phosphorus were more effective than broadcast placements for cereal crops in Western Canada. These researchers stated that the root system of small grains does not allow these crops to take up required amounts of phosphorus fertilizers that were broadcast. Therefore, these crops benefit most from phosphorus fertilizer that is placed either in-row or

very close to the seed.

Racz (1982) noted that grain yields and recovery of nitrogen from fertilizer increased when the nitrogen fertilizer was placed in-row as opposed to broadcasting. This observation was obtained when ammonium nitrate was applied at rates up to 67 kg/ha of N applied on a barley crop. However, when urea was used as the nitrogen source, rates higher than 20 kg/ha affected germination and caused seedling damage.

The amount of fertilizer that can be safely applied in-row depends upon the formulation of fertilizer that is required, the crop to be grown and the soil moisture conditions. Generally, phosphorus, at rates up to 40 kg/ha, can be safely applied in the seed row of cereal crops. Nitrogen in the form of ammonium nitrate can be safely applied in-row at rates up to 35 to 40 kg/ha of N. However, urea or anhydrous ammonia should not be applied in the seed row of cereal crops at rates exceeding 20 kg/ha of N. Again, moisture conditions play an important role in the amount of fertilizer nitrogen that can be safely applied in-row.

Also the type of seeding equipment that is used can play a role in determining the amount of fertilizer that can be safely applied in-row. Green (1984) suggests that seeders such as hoe drills or air seeders which have a wider seed row spread width allow for slightly higher fertilizer rates than seeders such as double disk drills which tend to concentrate the seed in a narrower row.

2.3.2 Broadcast

With an increase in stubble cropping, additional amounts of fertilizers (especially N) are required to obtain adequate crop yields. However, as stated earlier, application of large amounts of fertilizer in the seed row affected germination. Thus farmers began broadcasting and incorporating the additional nitrogen fertilizer that was required. With the broadcast method of application, large amounts of fertilizer could be applied in a relatively short time.

The use of this method generated a renewed interest by researchers in the effectiveness of applying phosphorus by broadcasting. Work by Bole (1966), Bole et al (1977), Smith (1977), Harapiak (1980) and Robertson et al (1982) showed that in the majority of cropping situations, broadcasting was an inefficient way of applying phosphorus fertilizers. In general, two to four times as much phosphorus must be broadcast to equal the same effectiveness as in-row phosphorus (Bole et al (1977), Racz (1982)). Racz (1982) stated that for wheat, broadcast P was only about 66% as efficient as in-row P. The reason for the relative inefficiency of broadcast applied phosphorus is that the s phosphorus becomes immobilized due to phosphorus adsorption on soil surfaces (Dibb 1978). Therefore, other methods such as banding, which reduce the soil-fertilizer contact, are generally more efficient methods of phosphorus fertilizer

application.

On soils that have medium to high phosphorus levels, broadcast applications can be as effective as banded applications (Dibb 1978). However, the relative effectiveness of broadcast P is dependant upon soil pH, soil texture, climatic conditions and rates of application (Harapiak 1980).

Residual effects of a high initial phosphorus application (up to 400 kg/ha of P) have been beneficial in terms of yields on a number of prairie soils (Spratt and Read 1980). The beneficial effects of one application of 400 kg/ha of P have been estimated to last about 30 years in southwestern Saskatchewan. These researchers state that building soil fertility judiciously over years is a paying investment. However, an economic analysis to substantiate these claims was not shown.

Work performed by Robertson et al (1982) showed that broadcasting a high rate of phosphorus (200 kg/ha of P) can lead to an increase in soil P levels and good crop yields. Beaton (1982) supported this concept. Since phosphorus is not prone to the same types of losses as nitrogen, this can be a way of applying phosphorus without having to worry about placement in-row. Racz (1982) also reported application of a high rate of phosphorus could be used to increase soil available phosphorus on portions of fields such as hills and knolls which are very low in available phosphorus. These areas could be fertilized with large

quantities of phosphorus and then treated similarly to the remainder of the field with respect to annual phosphorus applications.

In years when farmers have extra time in the fall after harvest, fertilizers have been applied in the fall to reduce the spring workload. However, work by Ridley (1977), Harapiak (1979a), Racz (1979), Nyborg et al (1980), Bole et al (1984), Harapiak and Penney (1984) and Malhi et al (1984) showed that fall broadcast nitrogen fertilizers were prone to losses over the winter period and were not as effective as spring broadcast treatments. The loss in effectiveness of fall broadcast nitrogen as compared to spring broadcast were as great as 50% in some instances. Bole et al (1984) obtained an effectiveness rating of 76% for fall broadcast N as compared to spring broadcast. This was obtained from an average of 99 sites and was obtained from a wide range of soil zones, soil textures, fall moisture conditions, drainage conditions, dates of application and early growing season precipitations in Alberta. Heaney et al (1984) reported that nitrogen losses were due to immobilization, leaching and denitrification, with denitrification being the primary cause.

With regards to fall broadcasting of phosphorus, Racz (1982) stated that fall broadcasting is as effective as spring broadcasting. This observation could be explained because phosphorus is not prone to the same types of losses as fall applied nitrogen (leaching and denitrification).

Therefore as long as phosphorus fertilizers are applied in the late fall, the effectiveness of fall applied phosphorus should be equal to spring applied phosphorus.

Broadcasting can be an effective method of applying fertilizers over large areas in a short period of time. Broadcasting is most effective for nitrogen fertilizers applied in the spring under favorable moisture conditions. Fall broadcasting of nitrogen fertilizers is generally not recommended because of high losses of nitrogent over the winter (especially in the Black and Gray soil zones of Alberta). Broadcasting of low rates of phosphorus fertilizer is an inefficient method of application on soils with low phosphorus levels. However, on soils with medium to high phosphorus levels, broadcasting phosphorus fertilizer may be an effective method of placement. This observation is supported by Robertson (1984) who states that after a number of years of applications of phosphorus fertilizers, the soil test levels of phosphorus will be increased. Robertson's hypothesis is that because of the increase in soil test levels, differences among various placements of phosphorus fertilizers will tend to diminish.

2.3.3 Banding

Banding is the method of fertilizer placement where the fertilizer is placed in a series of bands (rows, strips, ribbons) beneath the surface of the soil across the field. They may be at different spacings or at different depths but basically the fertilizer is concentrated within the bands as compared to fertilizer that is broadcast and incorporated.

Frederick Nobbe of Germany should be given credit for identifying the efficacy of the band application (Behmer 1977). In 1862, Nobbe, as cited by Behmer, noted that if "enriched" soil was placed in various patterns in a soil body, plant roots were more abundant in the enriched spots. In the United States in the early 1900's, research work continued on plant response to enriched soil zones. This work was carried out primarily in Michigan, Iowa, Kansas and Wisconsin. By the end of World War II, the superior performance of band application of fertilizers was well established in the United States (Behmer 1977).

The benefits of band placement are quoted from Behmer (1977);

"The explanation is that, when the fertilizer is placed in a band in the soil, only the surface of the bulk of fertilizer contacts soil and soil moisture, so that only a part of the fertilizer is immediately active. Thus the plant is fed well and regularly throughout a long period by the one

application, yet without excessive availability of fertilizer nutrients at any one time. Whereas when the fertilizer is broadcast, it is at once in considerable surface contact with soil and soil moisture and the soluble nutrients are more weakly, but more widely distributed: after these early stages, some of the phosphoric acid and potash becomes fixed by the soil and thereby lost from any immediate point of view. Thus, so far as greater immediate efficiency of application is concerned, the virtue of strip placement possibly rests upon the fact that there is less fixation of fertilizer if there is restricted contact with the soil."

In Canada, research into band placement of fertilizers (especially N) did not begin until the carly 1970's. Nyborg (1984) began work in the early 1970's comparing banding of N fertilizers to broadcasting. In general, band application was found to be superior to broadcasting in terms of increased crop yield and fertilizer nitrogen uptake and spring application was superior to fall application.

Harapiak (1979b) stated that farmers who used anhydrous ammonia as a source of nitrogen frequently reported higher yields with the use of this product than with broadcast nitrogen. Initially, these results were attributed to; 1. solubilization of extra soil phosphorus in the ammonia band,

2. ammonia being a more efficient form of nitrogen, or

3. higher rates of nitrogen application related to the much higher analysis of the ammonia.

However, researchers who gained experience with ammonia thought that the more favorable placement deep within moist soil was an important factor. This opinion was substantiated by results from Harapiak (1979b) where deeper placement of ammonia produced the greatest increase in grain yields under poor seedbed moisture conditions. This led to further work by Harapiak to determine whether applying ammonia would result in higher yields than applying granular forms of nitrogen. However, equally effective results were obtained when granular or liquid forms were banded. Therefore, Harapiak concluded that the benefits of banding nitrogen were primapily due to the superior positional availability of the fertilizer where the plant roots could easily feed as compared to broadcast N, especially under dry conditions where the fertilizer could remain stranded in the upper soil where plant roots did not proliferate. This observation was also made by Heinonen and Huhtapolo (1978) whose Swedish work supported the claims of Harapiak of superior positional availability of banded nitrogen especially under dry conditions.

Harapiak (1979a) noted a 15% increase in fertilizer efficiency for spring banding over spring broadcasting of nitrogen and a 20% increase for late fall banding over spring broadcasting. Ridley (1977) obtained a 3% increase

for spring banding, an equal rating for fall banding and a 4% loss for fall broadcasting over spring broadcasting. Racz (1979) noted a 20% increase for spring banding over spring broadcasting and a 7% loss for fall banding. Malhi et al (1984) obtained a 15% increase for both fall and spring banding on black soils, a 22% increase for fall banding and 28% increase for spring banding on dark brown and brown soils over spring broadcasting.

For deep banding of phosphorus fertilizers, Robertson et al (1982) reporting on work performed in Alberta stated that banding of phosphorus fertilizer midrow (one fertilizer band placed in the middle of two 22.5 cm seed rows) was only about 63% as efficient as phosphorus fertilizer applied in-row. In Manitoba, Racz (1982) reported that deep banded phosphorus (18 cm band spacing) was more efficient than broadcast phosphorus.

In the late 1960's, researchers in Kansas began to study the practicality of applying both nitrogen and phosphorus together for winter wheat. Their aim was to eliminate the extra handling of phosphorus fertilizer at seeding and combine the phosphorus fertilizer with the nitrogen fertilizer which was being banded with tillage implements (Murphy 1982). Their results indicated advantages for deep banding both N and P as compared to other methods which separated the N and P.

Murphy (1982) listed the following reasons for the improved efficiency (synergism) of dual NP banding;

- 1. Forced plant uptake of ammonium N causing a more acid condition at the root surface,
- Greater P availability at the root surface due to the acid environment there,
- 3. Deeper placement of nutrients in the soil where moisture is less limiting to uptake (positional availability),
- 4. Possible delays in fertilizer P reactions with soil components due to the very high concentrations of ammonium nitrogen present, and
- 5. Possible delay of fertilizer P reactions due to diminished fertilizer-soil contact.

Houlton and Armstrong (1980), reporting on work performed in Montana, obtained a 20-60% yield increase for dual NP banding over N banded and P applied in-row. Dual NP banding showed greater yield advantages than N banded and P placed in-row under dry soil moisture conditions than under moist soil moisture conditions.

Toews (1982) and Rogalsky and Ridley (1984), working in Manitoba, reported that fall placed NP bands were as effective as N broadcast in the spring and P applied in-row.

Harapiak et al (1982) reported that fall placed dual NP bands were equal to or superior in terms of efficiency to N broadcast in the spring and P applied in-row. Again, soil moisture conditions played an important role with dry conditions showing a greater advantage than moist conditions. In this study, they also reported that the relative efficiency of NP banding in the fall should be equal to that of banding N in the spring and applying P in-row. They state that any decrease in efficiency of fall placed fertilizer would be more than offset by improved seedbed quality in the spring.

From these results there are apparent contradictions between the results obtained from the various researchers regarding the relative efficiency of banded fertilizer versus broadcast. These discrepancies are due to different geographical locations, various depths and spacings of fertilizer bands, different times of application, different soil fertility levels and different soil and growing season moisture conditions.

In general, the fertilizer bands should be placed at least 5 cm below the depth of the seed. An optimum spacing of the bands has not been determined. The spacing should be narrow enough to minimize crop streaking caused by unequal crop row feeding of the fertilizer bands and wide enough to ensure that the benefits of reduced soil-fertilizer contact are maintained. For banding of N or NP fertilizers, satisfactory results have generally been obtained with a band spacing of 30 cm and a seed row spacing of 15-20 cm. The benefits of banding over broadcasting for spring application generally decrease as the fertility level and moisture conditions of the soil increase.

1

With regards to geographical locations, greater benefits of banded nitrogen fertilizer are obtained in the

drier southern areas of the prairies than in the moist parkland areas. The benefits of banding are inversely related to the amount of seedbed moisture and growing season precipitation. The benefits of fall banding of nitrogen as compared to spring broadcasting are greater in the southern areas than in the northern parkland areas because of lower soil moisture levels over the winter that are prevalent in the southern areas. The soil moisture and drainage conditions play an important role in the efficient use of fall banded nitrogen. High soil moisture levels during the spring thaw can lead to significant losses of nitrogen due to denitrification. Time of application is also important with late fall banding being generally more efficient than early fall banding. This is due to the fact that late fall application permits a lower rate of conversion of the nitrogen from ammonium to nitrate by soil microorganisms than early fall application. The nitrate form is the form of nitrogen which is prone to denitrification and leaching losses. Banding of phosphorus fertilizers is generally as effective as in-row placement when the phosphorus is banded in conjunction with nitrogen. The synergistic effect of ammonia on phosphorus uptake plays an important role. Again, the benefits of dual NP banding as compared to N banded and P in-row depends upon growing season moisture conditions. Greater benefits of dual NP banding are observed under dry soil moisture conditions than under favorable soil moisture conditions.

2.3.4 Sidebanding

In this study, sidebanding refers to the banding of fertilizer at a specified distance to the side of and or below from the seed. Sidebanding is normally performed using a separate set of openers mounted on the seed drill at the time of seeding. There can be one opener and therefore one band with each seed row or the openers can be spaced every other midrow, whereby one fertilizer band feeds two seed rows.

Bole (1966) noted that there is considerable reduction in P uptake from bands directly to the side of the seed compared to bands below and to the side of the seed. This is due to the fact that there is downward growth of plant roots which more readily intercept fertilizer bands that are below seed depth. Similar results were obtained from Heinonen and Huhtapalo (1978). Bole et al (1977) noted that in, general, P placed 2.5 cm to the side and below the seed was as effective as in-row placement at low rates of P application and prevented stand reduction at high rates.

Nyborg and Hennig (1969) reported that the efficiency of P fertilizers declined as the distance of the fertilizer band from the seed row increased. However, placing the fertilizer band below or to the side and below seed depth was of greater benefit than placement of the fertilizer band to the side of the seed row. This was especially true for flax and rapeseed which cannot tolerate the amount of fertilizer required for optimum yields placed in-row.

Robertson et al (1982) obtained lower yields with sidebanded (5 cm to the side and 5 cm below the seed) or midrow (45 cm fertilizer band spacing) P as compared to in-row P. However, the addition of N to the P band rather than broadcast tended to increase yields. The reasons for this are probably the same factors as for the dual NP bands as stated previously.

Therefore, as long as the bands are placed somewhat deeper than the seed, the effectiveness of sidebanded N and P should be as good as N broadcast and P in-row. There does not appear to be any benefit in sidebanding of only phosphorus fertilizers except in the case of crops such as flax and canola which can only tolerate low amounts of fertilizer placed in-row.

2.4 MACHINERY FOR FERTILIZER APPLICATION

Various types of equipment are available to apply fertilizers to soils. Because different types and physical states (e.g. granular solids, liquids, gases compressed to liquids) are available, equipment must be available to effectively place the desired forms of fertilizer in the required position within the soil with reasonable accuracy, reliability and cost. For example, the equipment requirements for handling anhydrous ammonia are quite different than those for granular phosphorus.

The following design and performance parameters for fertilizer applicators were obtained from Kepner et al 1972);

- Uniformity of distribution over a wide range of conditions is of primary importance,
- The metering device should have a positive dispensing action with fertilizers covering a wide range of drillabilities,
- Discharge rate should be proportional to the forward speed of the implement so that the application rate is independent of speed,
- 4. Discharge rate should be independent of depth of fertilizer in the hopper and of reasonable inclinations of the distributor,^{*}

5. There should be no appreciable cyclic variations in the discharge rate,

tilizers to soils. Because different types and physical tes (e.g. granular solids, liquids, gases compressed to uids) are available, equipment must be available to ectively place the desired forms of fertilizer in the uired position within the soil with reasonable accuracy, lability and cost. For example, the equipment uirements for handling anhydrous ammonia are quite erent than those for granular phosphorus.

The following design and performance parameters for ilizer applicators were obtained from Kepner et al '2);

Uniformity of distribution over a wide range of conditions is of primary importance, The metering device should have a positive dispensing action with fertilizers covering a wide range of drillabilities,

Discharge rate should be proportional to the forward speed of the implement so that the application rate is independent of speed,

Discharge rate should be independent of depth of fertilizer in the hopper and of reasonable inclinations of the distributor,

There should be no appreciable cyclic variations in the discharge rate,
1972) (Figure 2.2). Centrifugal broadcasters generally use a wire belt metering device. The metering rate is controlled by an adjustable gate above the belt. These machines are popular for broadcasting fertilizer in Western Canada because of their large capacity hoppers, relatively low cost and ease of operation. These machines are not precise in terms of uniformity of distribution across the spread width and some overlap must occur to ensure acceptable distribution across the field (Cunningham (1963), Reed and Wacker (1968), Green (1984)).

Drop type or dribble spreaders have metering units which are spaced at regular intervals along the full length of the hopper (Figure 2.3). The advantages of this machine over the centrifugal broadcaster are improved distribution of fertilizer across the width of spread and the ability to be mounted on cultivators or other tillage implements for broadcasting and incorporation of the fertilizer in a single field operation. Disadvantages include increased cost and lack of a large central hopper making filling somewhat more difficult. The metering units employed in dribble spreaders are stationary opening devices. The fertilizer is conveyed to the openings by a series of ribbed wheels, flutes, augers or impellers mounted on a shaft across the width of the machine. The rate of application is varied by either varying the size of the openings or varying the speed of the conveying devices.

۵۰۰ (۱۹۹۵) ۱۹۹۹ - ۲۰۰۰ (۱۹۹۵) ۱۹۹۹ - ۲۰۰۰ (۱۹۹۹) ۱۹۹۹ - ۲۰۰۰ (۱۹۹۹) ۱۹۹۹ - ۲۰۰۰ (۱۹۹۹)

. . .

Figure 2.2 CENTRIFUGAL BROADCASTER



۶۲ •••



Figure 2.3 DRIBBLE BROADCASTER

Pneumatic broadcasters are a relatively recent development in Western Canada. These machines use a centrally located hopper and an air fan to transport and distribute the fertilizer from the hopper to the openings which are spaced across the boom width (Figure 2.4). The advantages of the pneumatic broadcaster are a centrally located hopper to facilitate easy filling and an improved fertilizer distribution pattern on the soil compared to a centrifugal broadcaster. The main disadvantage is that of increased complexity because of the fan and hoses required for distribution. The use of these machines for fertilizer distribution in Western Canada is presently quite limited.

Liquid sprayers are generally field sprayers which have the components required to handle liquid fertilizers. The main advantage of a liquid sprayer is the utilization of a machine which is presently owned thereby avoiding the purchase or rental of a separate machine for applying fertilizer. Sprayer tanks and booms can also be mounted on tillage equipment to facilitate fertilization and incorporation in one operation (Green 1984). The distribution 'pattern of a sprayer is generally superior to that of a centrifugal broadcaster. However, the components of the sprayer such as the tank, pump, booms and nozzles must be made of materials which can withstand the corrosive effects of liquid fertilizers.



Figure 2.4 PNEUMATIC BROADCASTER

2.4.2 Banding Equipment

Equipment used in the banding of fertilizer generally falls into three categories; mechanical distributors, pneumatic distributors and gaseous distributors.

Mechanical distributors for granular fertilizers are generally adaptations of the drop type or dribble spreaders used for broadcasting fertilizers. They are usually mounted on seed drills and used for in-row or sidebanded placement but have also been mounted on cultivators for preplant banding. The advantages of these distributors are generally favorable distribution patterns and low cost. The disadvantages are the lack of a centrally mounted hopper making filling more difficult and the small size of the hoppers. The small size hoppers are especially disadvantageous when high amounts of fertilizer are to be applied at the time of seeding thereby reducing field efficiency by requiring more frequent stops for fill-ups. Mechanical distributors are also used in the distribution of liquid fertilizers on cultivators or seed drills. A ground driven pump, metering valves, distribution manifolds and a nurse tank are required. The advantage of using the liquid fertilizer system is the centrally located tank which facilitates filling.

The primary implement used in the pneumatic distribution of banded fertilizer is the air seeder (Figure 2.5). This machine uses a centrally located hopper, a

• • •



Figure 2.5 AIR SEEDER

COLOURED PI

metering mechanism, an air fan and a series of hoses mounted on 'a cultivator to transport and distribute the fertilizer and/or seed from the hopper to the furrow openers. The primary advantages of the air seeder are a large centrally located hopper for seed and/or fertilizer and easy transport from field to field. This machine can be used either for in-row placement of fertilizer or for a preplant banding operation. The primary disadvantage of the air seeder is the high investment cost especially if used solely for fertilizer banding.

32

The primary use of a gaseous distributor is for anhydrous ammonia. The anhydrous ammonia must be released in narrow furrows and covered immediately by soil to prevent escape. A loose, friable soil with adequate moisture is required to seal the soil surface to allow time for adsorption of ammonia to the water on the soil particles (Kepner et al 1972). Distribution of anhydrous ammonia requires a pressurized, heavy steel tank for storage and transport, a metering mechanism, a series of distributors and a hose to each shank. Initially, anhydrous ammonia applicators employed relatively light shanks which required a previous tillage operation to ensure adequate soil coverage of the ammonia band. These machines were generally rented from fertilizer dealers as the costs of owning the machines for individual farmers was too high (Porteous and Andres 1983). However, during the last decade, farmers have mounted ammonia distribution kits on their cultivators and

Ð,

rented the nurse tanks from the fertilizer dealers. This allowed farmers to combine fertilizing and tillage operations.

As well, ammonia liquifying (Coldfloo') kits have become quite popular (Figure 2.6). These kits employ a converter or converters which reduce the pressure of the ammonia to near atmospheric allowing only about 15% of the ammonia to vaporize. The heat required for the small amount of ammonia to vaporize comes from the remaining liquid causing the temperature of the liquid to drop below its boiling point. Vaporization of the cooled liquid does not occur until it warms in the soil thereby allowing for a longer period of time for the ammonia to be bound with the soil moisture. The depth of injection can be reduced by 7 to 10 cm as compared to gaseous injection, thereby reducing power requirements (Green 1984).

At present, the only equipment that is available for sidebanding of fertilizer in Western Canada are separate openers which mount on some makes and models of seed drills. These openers use the fertilizer boxes and mechanical metering mechanisms which are mounted on the seed drill. However, the present use of sidebanding equipment in Western Canada is quite limited.

There are also several hybrid systems which are employed. These systems can use components from two or more sources. For example, some farmers and fertilizer dealers 'Coldfloo is a registered trademark of United States Steel Agri-Chemicals Division



are using an air seeder combined with an ammonia liquifying unit to apply granular phosphorus and anhydrous ammonia simultaneously. The advantages in developing these types of hybrids are combination of field operations and the use of preferred forms of fertilizers. The use of ammonia liquifying units with air seeders allows for the banding of anhydrous ammonia with ammonium phosphate, both of which are the least expensive forms of nitrogen and phosphorus respectively.

The type of fertilizer application equipment used by an individual farmer is dependent upon the size of the operation, the forms and prices of fertilizers which are available, the equipment that is presently owned and individual preferences. An efficient machinery system can be developed to handle most types of fertilizer for almost any type of placement.

. 35

2.5 SUMMARY OF LITERATURE REVIEW

The following conclusions are derived from review of the literature and were used in the assumptions for this study.

- Broadcasting is not the ideal method of placement of nitrogen fertilizers (especially in the fall) and is definitely not recommended for phosphorus fertilizers except on soils with high P levels.
- Banding is the preferred method of nitrogen application on all soils. Banding of phosphorus fertilizers in conjunction with nitrogen is an effective method of phosphorus placement except on cold, wet, P deficient soils.
- 3. Fall banding of nitrogen fertilizers is preferred under low soil moisture conditions to minimize spring soil moisture loss and ensure good seedbed quality. Under medium and high soil moisture conditions, fertilizer banding should be performed in the spring to minimize overwintering losses of nitrogen due to denitrification and leaching.
- 4. In-row placement of phosphorus fertilizer remains an effective placement method on cereal crops at low to moderate rates, especially on P deficient soils. Nitrogen fertilizer requirements cannot usually be met by in-row placement because of seedling damage especially with urea based fertilizers.
- 5. Sidebanding is an effective method of fertilizer

placement. The main disadvantage is the lack of adequate commercially available equipment for sidebanding. There is the added problem of providing adequate spatial distribution of the seed and fertilizer openers to ensure good trash clearance. Another disadvantage is the extra time required to handle all the fertilizer at seeding time.

3. SYSTEM DESCRIPTION

The systems of fertilizer application considered were the following;

- 1. N broadcast in the spring, P in-row in the spring,
- 2. N banded in the spring, P in-row in the spring
 - a. with liquifying unit on cultivator using anhydrous ammonia as the N source,
 - b. with air seeder using urea as the N source,
- 3. N banded in the fall, P in-row in the spring
 - a. with liquifying unit on cultivator using anhydrous ammonia as the N source,
 - b. with air seeder using urea as the N source,
- 4. N and P banded together in the fall
 - a. using granular fertilizers,
 - b. using liquid fertilizers,
- 5. N and P banded together in the spring
 - a. using granular fertilizers,
 - b. using liquid fertilizers,
- 6. N broadcast in the fall, P in-row in the spring,
- 7. N and P broadcast together in the fall,
- 8. N and P broadcast together in the spring, and
- 9. N and P sidebanded together with the seed drill at the time of seeding.

These systems were chosen to represent a cross section of the various fertilizer application systems that are used

by farmers in Western Canada. Other combinations of time of application, placement method, fertilizer form and machinery complement are possible but those that were chosen were considered by the author to be a sufficient representation of the majority of combinations in use at the present time.

3.1 MACHINERY MANAGEMENT

3.1.1 Machinery Capacities

The term machine capacity refers to the area of land that is covered by an implement in a certain time period (e.g. ha/h). Machine capacity is a function of field speed, machine working width and field efficiency (ASAE 1984).

Field efficiency is the ratio between the productivity of a machine under field conditions and the theoretical maximum productivity (ASAE 1984). Some reasons for a machine not working at its theoretical maximum include:

1. Machine overlap

2. Turning time at headlands

3. Materials handling (e.g. seed, fertilizer, water)

4. Machine adjustment

5. Lubrication and refueling.

The following formula for calculating machine capacity was obtained from Hunt (1983):

(3.1)

C = (S W E) / 10

C= capacity (ha/h)

S= speed of machine (km/h)

W= width of machine (m)

E= field efficiency (decimal)

10= constant (to adjust for units)

3.1.2 Machinery Costs

The total cost involved with using farm equipment includes costs for ownership and operation. Ownership costs or fixed costs are mainly a function of time rather than hours of annual use (Andruchow 1982). Ownership costs include depreciation, interest on investment, taxes, insurance and housing.

Depreciation is defined as the loss in value over time due mainly to obsolescence (Andruchow 1982). Andruchow stated that although wear also contributes to depreciation, no reliable data is available as to how much varying amounts of use contribute to depreciation. Depreciation of this type would be a variable rather than a fixed cost. The depreciation of a machine can be calculated using the following formula obtained from ASAE (1984):

(3.2)

D= depreciation (\$/year)
V1= initial price (\$)
V2= salvage price (\$)
T1= time of machine purchase
T2= time of machine disposal
T2-T1= machine life (years)

Interest costs are a charge for the use of the money in a machine investment (ASAE 1984). They can occur in two forms (Andruchow 1982). First, there is the cost of financing a machine purchased on credit. Second, there is the tying up of money in these fixed assets, which could be earning additional funds if invested in an alternate use (e.g. interest in term deposits).

Insurance is necessary to protect against losses from hazards such as fire and accidents. Housing costs are involved with having machine sheds for the storage of equipment. These costs are justified whether the buildings are present or not, because without them, deterioration and weathering will increase repair rates (Andruchow 1982).

Variable costs are expenses which vary according to the amount of use and include fuel, lubrication, repairs and maintenance (ASAE 1984).

3.2 GENERAL ASSUMPTIONS

The assumptions that were used in developing the various systems are as follows. The area that is cultivated and seeded is 325 hectares. All the fields are uniform in size and no obstructions (e.g. sloughs, stones, trees) are present. The fields are also situated adjacent to each other. Therefore, time lost in travelling between fields is kept to a minimum. The farmer is involved in a continuous cropping system and therefore all the land is cultivated twice, once in the fall and once in the spring prior to or in conjunction with seeding.

The crop that is seeded is barley. Barley was chosen as the crop for analysis because the majority of fertilizer placement research in Western Canada has been performed using barley as the test crop. Barley allowed a direct relationship between fertilizer effectiveness and grain yields to be developed. In an actual farming operation, a farmer would probably use a rotation which included other crops. These other crops were not used in the model because of the difficulty in obtaining fertilizer effectiveness data.

Post emergence herbicides are used for weed control and therefore no additional tillage is required to control any particular weed problem. If the system includes an air seeder, the air seeder will be used for both banding and seeding. The type of seeding equipment that is used will not have any effect on the yield.

A field efficiency of 82.5% is assumed for all field operations. Extra time is allowed for the filling of seed and fertilizer hoppers.

The amounts of fertilizer used are 65 kg/ha of nitrogen and 13 kg/ha of phosphorus. These rates were chosen to replenish the nutrients taken by the previous crop (Beaton 1982) and allow for some reserve. Fertilizer products are generally designated by the amounts of nitrogen (N), phosphorus pentoxide (P_2O_5) and potassium oxide (K_2O) that are present. However, in this study, the amounts of N, P and K are expressed on an elemental basis. The fertilizer products and grades used are for nitrogen; granular urea (46-0-0), anhydrous ammonia (82-0-0) or liquid urea-ammonium nitrate (28-0-0) and for phosphorus; monoammonium phosphate (11-22-0) or liquid ammonium phosphate (10-15-0). No potassium, sulfur or micronutrients (e.g. Fe, Mg, Zn) are required. However, if required, the equipment used to apply the N and P fertilizers could also be used to apply fertilizers or fertilizer blends containing potassium, sulphur or micronutrients.

The farmer's working day was assumed to be 16 hours of which 12 hours were spent working in the field and 4 hours were spent in servicing equipment and filling trucks with fertilizer and seed. Meals were eaten during equipment fill-up times which did not require any extra time. All the fertilizer and seed were stored directly on the farm except

for anhydrous ammonia and liquid fertilizers which were trucked in promptly whenever scheduled.

3.3 MACHINERY DESCRIPTION

The method used to size the various pieces of equipment for the systems is based upon the author's experiences regarding the rationale of farmers towards sizing equipment. Generally, a farmer chooses a particular piece of primary tillage equipment (usually a chisel plow) and the appropriate sized tractor for his individual conditions. The size of seed drill was chosen by the author to be slightly larger than that of the chisel plow. Other equipment such as harrow-packers were chosen to be as wide as possible for the constraints of available tractor power, field shape and size.

The sizing method used in this analysis was to base equipment width on the above rationale. This method uses a fixed size of equipment for all systems. Differences between the systems comes from the differences in time required to complete the necessary field operations.

The width of the chisel plow (cultivator) was assumed to be 9.14 m. Ground speed of the cultivator was assumed to be 8 km/h. According to tests carried out by the Prairie Agricultural Machinery Institute (PAMI) and averaged over several makes and models of chisel plows (Appendix 1), a chisel plow with a width of 9.14 m would require a tractor

44

۲.

with a maximum PTO power rating of 135 kW at a ground speed of 10 km/h and a cultivator working depth of 75 mm. Therefore, the tractor will have enough power to pull the air seeder or ammonia nurse tank, when required, at a ground speed of 8 km/h. A set of mounted tine harrows was used with the cultivator to eliminate any additional harrowings between field operations.

The fertilizer broadcaster that was chosen is one which is commonly available in Western Canada as a rental unit from fertilizer dealers. This model has a hopper capacity of 4 tonnes and an effective spread width of 13.7 m. Ground speed of the broadcaster was assumed to be 12 km/h.

The working widths of the press drill and harrow-packer were arbitrarily-chosen to be 11 m and 18.3 m respectively. According to the PAMI test reports on various press seed drills (Appendix 2), a double disk press drill requires about 8.7 kW of power per metre of width. Therefore an 11 m drill would require a tractor with a maximum PTO rating of 96 kW. With the harrow-packers, the average power requirements obtained from the PAMI reports (PAMI 1982b, 1983) are 5.34 kW/m of width. Therefore, a 18.3 m harrow-packer would require a tractor with a maximum PTO rating of 98 kW. Thus the power requirements of both the seed drill and the harrow-packer are well within the power rating of the 135 kW tractor.-

A Flexicoil model 1000² (PAMI 1982d) air seeder was chosen for this study. This model was selected because of its large capacity seed and fertilizer tanks and because of its ability to be easily attached and detached from the cultivator. This allows the cultivator to be used without the air seeder.

The seed drill chosen for system 9 was an International Harvester Company (IHC) model 5100² end wheel double disk drill with a second set of openers for sidebanding of fertilizer. The width of the drill was arbitrarily chosen to be 11.2 m. This drill is the only known, reasonably priced, commercially made, conventional seed drill with optional sidebanding openers.

Each system utilized a different complement of machinery and field operations depending upon its individual requirements.

Machinery costs for each system were based upon hourly machinery rates obtained from Andruchow (1982) and multiplied by the number of hours required to complete the operation. These costs included both fixed and variable costs. The press seed drill and end wheel seed drill used in the models are each composed of three 3.66 m units. Therefore, the costs for the seed drills were obtained by multiplying the cost of the 3.66 m unit by three. The cost of the mounted harrows was obtained by multiplying the cost

²The naming of brand makes and models are used for examples only. The author does not specifically endorse any mentioned brand names and models.

of the 1.52 m 3 bar tine harrow by six. The cost of the liquid fertilizer distribution kit used in Systems 4B and 5B is given in Appendix 5.

47

.

. •

R

η.

4. TIMELINESS CONSIDERATIONS

Timeliness, in the context of this study, is defined as the ability to perform a field machine operation within a time period in which there will be no yield penalty due to performing the operation either too early or too late. Timeliness then, is the ability to perform a task within an optimum time period.

According to Briggs (1985), the seeding of barley, in general, should be completed by the end of May in Alberta before any yield reduction or yield quality penalty would be assessed. After the end of May, a yield penalty would result.

Russell (1969) compiled information which listed the probability of a given day being suitable for tillage for different locations in Alberta. These probabilities were added up over a certain time period giving the number of suitable working days likely during that time period. In this study, the spring working period was assumed to be May 1-31 inclusive, and the fall working period October 1-31 inclusive. The number of working days in May and October on medium to heavy soils for different locations in Alberta, based on Russell's probabilities, is given in Table 4.1. The average number of working days in May are 23 without much variation from region to region. Therefore, an an average of 23 working days for the month of May is assumed for the whole province. Thus, the farmer has 23 days to complete

spring work before any yield reduction penalties would be assessed. The number of working days in October varies from region to region with 17.5 days in low rainfall areas to 4.8 days in high rainfall area. Therefore, each region was assessed individually according to the number of working days available.

}...

TABLE 4.1 NUMBER OF WORKING DAYS ON MEDIUM TO HEAVY SOILS FOR VARIOUS LOCATIONS IN ALBERTA.

| LOCATION | DAYS (MAY) | DAYS (OCTOBER) |
|-----------------------|------------|----------------|
| LOW RAINFALL AREAS | | |
| CALGARY | 22 | 15.2 |
| LETHBRIDGE | 22.9 | 17.7 |
| MEDICINE HAT | 24.9 | 19.7 |
| AVERAGE | 23.3 | 17.5 |
| | - | · · · · · · |
| MEDIUM RAINFALL AREAS | | |
| EDMONTON | 22.8 | 12.8 |
| VERMILION | 23.5 | <u>12.7</u> |
| AVERAGE | 23.2 | 12.8 |
| | | |
| HIGH RAINFALL AREAS | | • |
| BEAVERLODGE | 23.2 | 4.4 |
| FAIRVIEW | 23.9 | <u>5.1</u> |

23.6

o,

AVERAGE

Source: Russell (1969)

50

4.8

5. SYSTEM OPERATION

The operation of the various systems and their respective order of field operations are outlined in the following sections. Details of the calculations regarding time requirements for the various field operations and their associated machinery costs are outlined in Appendix 6.

5.1 SYSTEM 1. N BROADCAST IN THE SPRING, P IN-ROW IN THE SPRING

System 1 involves the broadcasting of nitrogen in the spring prior to tillage and seeding. The phosphorus is applied in-row. This is the system which has been traditionally used in the Prairie Provinces. The field operations required from the previous harvest to seeding include;

- 1) fall 'cultivation,
- broadcasting of N fertilizer in spring,
 - 3) spring cultivation, and
 - 4) seeding.

5.2 SYSTEM 2A. N BANDED IN THE SPRING WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING

System 2A involves banding of nitrogen in the form of anhydrous ammonia combined with spring tillage prior to

seeding. The ammonia is applied using a liquifying unit which is mounted on the cultivator. A nurse tank which carries the ammonia under pressure is pulled behind the cultivator. This nurse tank is rented from the fertilizer dealer and the cost of its rental is included in the price of the ammonia. The phosphorus fertilizer is applied in-row.

The field operations required for this, system are;

- 1) fall cultivation,
- 2) spring cultivation-banding, and
- 3) seeding.

5.3 SYSTEM 2B. N BANDED IN THE SPRING WITH AIR SEEDER, P IN-ROW IN THE SPRING

System 2B involves banding nitrogen in the form of granular urea with an air seeder combined with spring tillage prior to seeding. The phosphorus fertilizer is applied in-row. Because the farmer has the air seeder for banding, the air seeder will also be used for seeding. However, after using the air seeder for seeding, the farmer must follow with a harrow-packer to ensure adequate germination.

The order of field operations with this system are;

- 1) fall cultivation,
- spring cultivation-banding,
 - 3) seeding, and
- 4) harrow-packing.

5.4 SYSTEM 3A. N BANDED IN THE FALL WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING

System 3A involves the same time requirements as System 2A evcept for the nitrogen fertilizer which is applied in the fall rather than in the spring. The phosphorus is applied in the spring in-row.

Field operations that are required are;

1) fall cultivation-banding,

2) spring cultivation, and

3) seeding.

5.5 SYSTEM 3B. N BANDED IN THE FALL WITH AIR SEEDER, P

IN-ROW IN THE SPRING

In System 3B, the N fertilizer is applied in the fall as urea in conjunction with the fall tillage. In spring, the farmer applies the P fertilizer in-row using the arr seeder and since the air seeder is being used, no preseeding tillage is required.

Field operations required are;

- 1) fall cultivation-banding,
- 2) spring seeding, and
- 3) harrow-packing.

5.6 SYSTEM 4A. GRANULAR N & P DEEP BANDED IN THE FALL

System 4A involves banding of granular nitrogen and phosphorus using the air seeder in the fall in combination with fall tillage. In the spring, the farmer then seeds with the air seeder, without having to apply any fertilizer and without requiring any preseeding tillage.

Field operations that are involved with this system are; 1) fall cultivation-banding,

- 2) spring seeding, and
- 3) harrow-packing.

5.7 SYSTEM 4B. LIQUID N & P DEEP BANDED IN THE FALL

In System 4B, the fertilizer nitrogen and phosphorus are applied as liquids in the fall in conjunction with fall tillage. The farmer uses a liquid fertilizer distribution kit mounted on the cultivator and a nurse tank pulled behind the cultivator to distribute the fertilizer. In the spring, the farmer performs the preseding tillage with the cultivator and then seeds with the press drill.

Field operations involved with this system are;

- 1) fall cultivation-banding,
- 2) spring cultivation, and

seeding.

5.8 SYSTEM 5A. GRANULAR N & P DEEP BANDED IN THE SPRING

System 5A involves the banding of both nitrogen and phosphorus fertilizers in the spring with the air seeder prior to seeding. The seeding operation is performed with the air seeder without any preseeding tillage.

The field operations required for this system are;

- 1) fall cultivation,
- 2) spring cultivation-NP banding,
- 3) seeding, and
- 4) harrow-packing.

5.9 SYSTEM 5B. LIQUID N & P DEEP BANDED IN THE SPRING

System 5B involves the banding of both N and P as liquid fertilizer in conjunction with spring tillage. Order of field operations with System 5B are;

- 1) fall cultivation,
- 2) spring cultivation-banding, and
- 3) seeding.

1

5.10 SYSTEM 6. N BROADCAST IN THE FALL, P IN-ROW IN THE SPRING

The system involves the broadcasting of the nitrogen fertilizer in the late fall prior to fall cultivation. In spring, the farmer performs one cultivation prior to seeding. Phosphorus fertilizer is applied in-row at the time of seeding.

Order of field operations in this system are;

- 1) fall broadcasting,
- 2) fall cultivation,
- 3) spring cultivation, and
- 4) seeding.

5.11 SYSTEM 7. N & P BROADCAST IN THE FALL

System 7 involves the broadcasting of both nitrogen and phosphorus fertilizers in the fall prior to fall cultivation.

Field operations required for this system include;

- 1) fall broadcasting,
- 2) fall cultivation,
- 3) spring cultivation, and
- 4) seeding.

5.12 SYSTEM 8. N & P BROADCAST IN THE SPRING

In System 8, the nitrogen and phosphorus are broadcast in the spring prior to spring cultivation.

The order of field operations for this system are;

- 1) fall cultivation,
- spring broadcasting,
- 3) spring cultivation, and

4) seeding.

Since System 8 involves the same amount of time spent in the field and uses the same equipment as System 7, the machinery costs are also the same.

5.13 SYSTEM 9. N & P SIDEBANDED IN THE SPRING

In System 9, the fertilizer is applied in the form of a granular blend at the time of seeding. The fertilizer is placed in a band to the side of and below the seed using a separate set of openers which are mounted on the seed drill. The seed drill that is used in this system is an IHC model 5100 end wheel double disk drill. Since this drill does not have packers, a separate harrow-packing operation must follow after seeding.

The order of field operations for this system are;

- 1) fall cultivation,
- 2) spring cultivation,
- 3) seeding-banding, and
- 4) harrow-packing.

FERTILIZER COSTS, CROP RETURNS AND GROSS REVENUE ANALYSIS

For all systems, fertilizers are applied at the rate of 65 kg/ha of N and 13 kg/ha of P. For systems using granular fertilizer or anhydrous-ammonia, 60 kg/ha of N is derived from urea (46-0-0) or anhydrous ammonia (82-0-0) and 5 kg/ha N and 13 kg/ha of P are derived from ammonium phosphate (11-22-0). For systems using liquid fertilizers, 56.3 kg/ha of N is derived from urea-ammonium nitrate (28-0-0) and 8.7 kg/ha of N and 13 kg/ha of P are derived from ammonium polyphosphate (10-15-0). These rates were chosen to replenish the nutrients taken from the previous crop (Beaton 1982) and allow for some reserve. Fertilizer prices were obtained in November 1984 from telephone conversations with several derta fertiliter dealers. Most dealers stated that, historically, fertilizer parces have increased an verage of approximately 10% from fall to the following spring. The prices for fertilizer's purchased in the spring have therefore been adjusted upwards by 10% from the fall prices. Prices for the various fertilizers used in this model are listed in Appendix 4. If applicable for a particular system, fertilizer costs have been calculated for both fall purchased and spring purchased fertilizer. Storage costs were not considered. Anhydrous ammonia and liquid fertilizers are the exception. Since specialized storage facilities are required for these products, delivery was obtained from the fertilizer dealer as required. Interest at

the rate of 15% per annum was charged to fertilizer purchases from the date of delivery of the fertilizer (fall of spring) to the following harvest (12 or 5 months). A labour cost of \$10 per hour is charged towards the time spent working for the various systems.

A grain yield without the use of any fertilizer is assumed to be 1.35 t/ha. A yiel increase of 1.85 t/ha is assumed for the "standard" fertilizer treatment of N broadcast and P in-row. The grain yields were estimated average yields obtained from published reports from a variety of researchers (Nyborg and Hennig (1969), Nyborg and Leitch (1979), Harapiak (1980), Robertson et al (1982), Alberta Agriculture (1984) and Bole et al (1984)). These yields were taken for a typical soil in central Alberta. If desired, yields could be adjusted to suit an individual location elsewhere in the province.

The fertilizer effectiveness rating of the "standard" treatment is taken to be 100. The effectiveness rating of the other placements is expressed as a comparison against the "standard" placement. Effectiveness rating is defined as the yield increase due to a particular placement as compared to the standard expressed as a percentage or decimal. Nitrogen fertilizer effectiveness ratings were obtained from Alberta Agriculture (1984). These ratings were averages obtained from a number of research experiments conducted throughout the province. For phosphorus, the effectiveness rating was assumed to be 100 for every case where the

12

fertilizer was placed in-row or banded in conjunction with nitrogen. The rating for broadcast P was assumed to be 66% (Racz 1982). The combined fertilizer effectiveness rating was then obtained by multiplying the nitrogen rating by the phosphorus rating. The ratings for the various systems are outlined in Table 6.1.

A barley grain price of \$125 per tonne (Alberta Wheat Pool, December 1984) was used for the revenue calculations. Production calculations were made for three soil moisture conditions low, medium and high corresponding to low, medium and high soil moisture conditions respectively for the time period from late fall to the following spring early growing season for a typical soil in central Alberta. Grain production was calculated for three soil moisture conditions because fertilizer effectiveness (especially N) varies according to soil moisture conditions.

Fertilizer effectiveness, total costs and gross revenue are outlined in the following tables. Net revenue was calculated in the following manner. The grain yield was multiplied by the price for barley (\$125/t) and the area in production (325 ha) to obtain the gross revenue. Subtracted from gross revenue were the costs of fertilizer and interest, machinery and labour. Details of these calculations are in Appendix 7.
TABLE 6.1

6.1 FERTILIZER EFFECTIVENESS RATINGS

| System | | <u>N</u> | rating | l | <u>P</u> r | atin | g | Combi | ned r | ating |
|----------------|-----|------------------|--------|-----|------------|------|-----|---------|-------|----------|
| | | Ē | M | H | <u>Ľ</u> | M | н | Ľ | M | <u>H</u> |
| 1 | | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 |
| . 2A | | 115 | 110 | 110 | 100 | 100 | 100 | 115 | 110 | 110 |
| 2B | | 115 | 110 | 110 | 100 | 100 | 100 | 115 | 110 | 110 |
| 3A | | 115 | 95 | 85 | 1.0,0 | 100 | 100 | 115 | 95 | 85 |
| 3.B | | 115 | 95 | -85 | 100 | 100 | 100 | 35.1.15 | 95 | 85 |
| 4 A | | 115 | 95 | 85 | 100 | 100 | 100 | 115 | 95 | 85 |
| 4 B | | 115 | 95 | 85 | . 100 | 100 | 100 | 115 | 95 | 85 |
| 5A | | 115 | 110 | 110 | 100 | 100 | 100 | 115 | 110 | . 110 |
| 5B | • | 115 | 110 | 110 | 100 | 100 | 100 | 115 | 110 | 110 |
| 6 | | 100 | 85 | 80 | 100 | 100 | 100 | 100 | 85 | 80 |
| ['] 7 | | 100 | 85* | 80 | 66 | 66 | .66 | 66 | 56 | 53 |
| . 8 | 1 | 100 [°] | 1,00 | 100 | 66 | 66 | 66 | 66 | 66 | 66, |
| .9 | . • | 115 | 110 | 110 | 100 | 100 | 100 | 115 | 110 | 110 |
| | | | | | | | | | | |

Combined rating= (N rating * P rating)/100

L= low soil moisture

M= medium soil moisture

H= high soil moisture

TABLE 6.2 GROSS REVENUE AND TOTAL COSTS UNDER LOW SOIL MOISTURE CONDITIONS (\$)

| <u>S</u> | YSTEM | TREATMENT | GROSS REVENUE | TOTAL FALL | COSTS SPRING |
|----------|----------------|----------------------|---------------|---------------|-----------------|
| | 1 0 | N-S-BR | 130,000 | 33,327 | 33,626 |
| | 2A · | N-S-BD-A P-S-TR | 141,375 | 30,849 | 30,878 |
| | 2B | N-S-BD-U P-S-IR | 141,375 | 36,514 | 36,813 |
| | 3 A | N-F-BD-A P-S-IR | 141,375 | 30,666 | 30,695 |
| | 3B | N-F-BD-U P-S-IR | 141,375 | 33,286 | 33,315 |
| | 4A | N-F-BD-G P-F-BD-G | 141,375 | 32,998 | - |
| | 4 B | N-F-BD-L P-F-BD-L | 141,375 | 36,908 | - |
| | 5A * | N-S-BD-G P-S-BD-G | 141,375 | 36,225 | 36,524 |
| | 5B | N-S-BD-L P-S-BD-L | 141,375 | | 37,414 |
| _ | 6 | N-F-BR P-S-IR | 130,000 | 33,327 | 33,356 |
| | 7 | N-F-BR P-F-BR | 104,375 | 33,182 | - |
| | 8 [°] | N-S-BR P-S-BR | 104,375 | 33,182 | 33,481 |
| | 9 . | N-S-SB P-S-SB | 141,375 | 33,691 | 33,990 |
| | | | | | |

Fall= fall purchased fertilizer, Spring= spring purchased
 fertilizer

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

62.

8

.

TABLE 6.3 GROSS REVENUE AND TOTAL COSTS UNDER MEDIUM SOIL MOISTURE CONDITIONS (\$)

| | С., | | TOTAL | COSTS | |
|--------|----------------------|---------------|--------|---------------------|----|
| SYSTEM | TREATMENT | GROSS REVENUE | FALL | SPRING | |
| 1 | N-S-BR P-S-IR | 130,000 | 33,327 | 33,626 | |
| 2A | N-S-BD-A P-S-IR | 137,500 | 30,849 | [°] 30,878 | |
| 2B | N-S-BD-U P-S-IR | 137,500 | 36,514 | 36,813 | |
| 3A | N-F-BD-A P-S-IR | 126,250 | 30,666 | 30,695 | |
| 3B | N-F-BD-U P-S-IR | 126,250 | 33,286 | 33,315 | • |
| 4 A | N-F-BD-G P-F-BD-G | 126,250 | 32,998 | · _ | |
| 4 B | N-F-BD-L P-F-BD-L | 126,250 | 36,908 | _ `` | |
| 5A | N-S-BD-G P-S-BD-G | 137,500 | 36,225 | 36,524 | |
| 5B | N-S-BD-L P-S-BD-L | 137,500 | - | 37,414 | |
| 6 | N-F-BR P-S-IR | 118,625 | 33,327 | 33,356 | • |
| 7 | N-F-BR P-F-BR | 96,875 | 33,182 | | |
| 8 | N-S-BR P-S-BR | 104,375 | 33,182 | 33,481 | • |
| 9 | N-S-SB P-S-SB | 137,500 | 33,691 | 33,990 | ני |

Fall= fall purchased fertilizer, Spring= spring purchased fertilizer

ر. . . شو

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

. t

TABLE 6.4 GROSS REVENUE AND TOTAL COSTS UNDER HIGH SOIL MOISTURE CONDITIONS (\$)

1 8

Þ

| | | | AF¹⁰⁰ | |
|--------|----------------------|---------------|--------------------------------------|----------------|
| SYSTEM | TREATMENT | GROSS REVENUE | TOTAL CO | OSTS SPRING |
| 1 | N-S-BR P-S-IR | 130,000 | 33,327 | 33,626 |
| 2A | N-S-BD-A P-S-IR | 137,500 | 30,849 | 30,878 |
| 2B | N-S-BD-U P-S-IR | 137,500 | 36,514 | 36,813 |
| 3A | N-F-BD-A P-S-IR | 118,625 | 30,666 | 30,695 |
| 3B | N-F-BD-U P-S-IR | 118,625 | 33,286 | 33,315 |
| 4 A | N-F-BD-G P-F-BD-G | 118,625 | `·32,998 | , |
| 4 B | N-F-BD-L P-F-BD-L | 118,625 | 36,908 | |
| 5A | N-S-BD-G P-S-BD-G | 137,500 እ | 36,225 | 36,524 |
| 5B | N-S-BD-L P-S-BD-L | 137,500 | | 37,414 |
| 6. | N-F-BR P-S-IR | 115,000 | 33,327 | 33,356 |
| 7 | N-F-BR P-F-BR | 94,625 | 33,182 | _ · |
| 8 | N-S-BR P-S-BR | 104,375 | 33,182 | 33,481 |
| 9 | N-S-SB P-S-SB | 137,500 | 33,691 | 33,990 |

Fall= fall purchased fertilizer, Spring= spring purchased fertilizer

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

23

, sa 👝

7. DISCUSSION OF RESULTS

7.1 TIME REQUIREMENTS

The times required to complete fertilizer application and seeding for the various systems as calculated in Appendix 6 are summarized in Tables 7.1 and 7.2. The time spent in the fall varies from 4.5 days for the systems which require only fall cultivation (Systems 1, 2A, 2B, 5A, 6B, 8, 9) to 6.9 days for systems where fertilizer is broadcast in the fall prior to fall cultivation (Systems 6, 7). The time spent in the spring varies from 7 days (System 3B) to 11.8 days (System 2B). In general, the greater the number of field operations that are required, the longer the time required to complete the operations. Operations that are combined (e.g. fertilizing and cultivating or cultivating-seeding with the air seeder) lead to less time spent in completing the operations. For example, combining nitrogen fertilizer application with cultivation in System 2A leads to a two day decrease in spring working time over System 1 where the nitrogen fertilizer is broadcast in a separate operation. Thus there is great potential in reducing time requirements by combining field operations whenever possible.

Time requirements of the various systems as they relate to machine operations also varies. In general, seeding with the press drill is faster than seeding with the air seeder

| TABLE 7 | .1 TIME REQU | IREMENTS OF TH | E VARIOUS S | YSTEMS (HOURS) |
|------------|----------------------|----------------|-------------|----------------|
| SYSTEM | TREATMENT | FALL | SPRING | <u>Total</u> |
| 1 | N-S-BR P-S-IR | × 54 ° | 134.2 | 188.2 |
| 2A | N-S-BD-A P-S-IR | 54 | 109.2 | 163.2 |
| 2B | N-S-BD-U P-S-IR | 54 | 142 | 196 |
| 3A | N-F-BD-A P-S-IR | 56.5 | 106.5 | 163 |
| 3B | N-F-BD-U P-S-IR | 57.4 | 84.6 | 142 |
| 4A | N-F-BD-G P-F-BD-G | 58.7 | 80.3 | 139 |
| 4B | N-F-BD-L P-F-BD-L | 62.3 | 104.1 | 166.4 |
| 5 A | N-S-BD-G P-S-BD-G | 54 | 139 | 193 |
| 5B | N-S-BD-L P-S-BD-L | 54 | 112.4 | 166.4 |
| 6 | N-F-BR P-S-IR | 81.7 | 106.5 | 188.2 |
| 7 | N-F-BR P-F-BR | 83.3 | 104.1 | 187.4 |
| 8 | N-S-BR P-S-BR | 54 | 133.4 | 187.4 |
| 9 | N-S-SB P-S-SB | 54 | 136.3 | 190.3 |
| | | | | |

Q2

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

ė,

. 66

| TABLE 7.2 TIME REQUIREMENTS OF | THE | VARIOUS | SYSTEMS | (DAYS) |
|--------------------------------|-----|---------|---------|--------|
|--------------------------------|-----|---------|---------|--------|

ç

| SYSTEM | TREATMENT | FALL . | SPRING | Total |
|--------|----------------------|---------|--------|-------|
| 1 | N-S-BR P-S-IR | 4.5 | 11.2 | 15.7 |
| 2A | N-S-BD-A P-S-IR | 4.5 | 9.1 | 13.6 |
| 2B | N-S-BD-U P-S-IR | 4.5 | 11.8 | 16.3 |
| 3A | N-F-BD-A P-S-IR | 4.7 | 8.9 | 13.6 |
| 3 B | N-F-BD-U P-S-IR | 4.8 | 7 | 11.8 |
| 4 A | N-F-BD-G P-F-BD-G | 4.9 | 6.7 | 11.6 |
| 4 B | N-F-BD-L P-F-BD-L | 5.2 | 8.7 | 13.9 |
| 5A | N-S-BD-G P-S-BD-G | 4.5, | 11.6 | 16.1 |
| 5B r | N-S-BD-L P-S-BD-L | 4.5 | 9.4 | 13.9 |
| 6 | N-F-BR P-S-IR | 6.8 | 8.9 | 15.7 |
| 7 | N-F-BR P-F-BR | 6.9 | 8.7 | 15.6 |
| 8 | N-S-BR P-S-BR | 4.5 | 11.1 | 15.6. |
| 9 | N-S-SB P-S-SB | 4.5 | 11.4 | 15.9 |
| ÷. | | • • • • | | |

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcord, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

providing the number of field passes remains the same. However, when seeding with the air seeder is combined with preseeding tillage, time requirements favour the air seeder over the press drill. Seeding with the air seeder requires a subsequent harrow-packing operation to ensure good soil-seed contact. Therefore, combining harrow-packing with the air seeding operation could result in even greater time savings.

Broadcasting generally required more time than banding, when banding was combined with a cultivation operation. The exceptions were Systems 2B and 5A which used the air seeder for seeding. These systems necessitated a second cultivation and a harrow-packing operation which led to greater time requirements.

There have been suggestions by some researchers (Harapiak 1984b) that in-row application of fertilizers can lead to significant time delays during seeding. However, comparing System 3B with 4A, in-row application of phosphorus required only 0.3 days longer to complete seeding operations. Therefore, as long as the proper management and equipment is used (drill-fills, fertilizer hoppers), time .delays involved with in-row fertilizer application can be minimal.

The time required to apply liquid fertilizer was slightly higher than for granular fertilizer. The time difference involved however was relatively small, in the range of 0.3 days. The application of phosphorus fertilizer in conjunction with nitrogen fertilizer generally required less time than the application of the product's separately. However, the amount of extra time that was required was small. For example, System 3B required only 0.3 days longer to apply phosphorus fertilizer in-row than System 4A where the phosphorus was banded with the nitrogen.

The use of anhydrous ammonia as an N source in System 2A led to 2.5 days less time spent in spring than System 2B which used urea as the N source. This was primarily due to less handling of the fertilizer product and the elimination of the harrow-packing operation in System 2A as compa _d to System 2B.

The number of available working days in the fall to perform field work is limited, especially in the high rainfall areas. This time limitation generally restricts fall work to cultivation or perhaps cultivation-banding. Any other field operations could not be performed because of is time limitation. In the low and medium rainfall areas, all time is not as constrained and if desired, a greater amount of field work can be performed in the fall.

In the spring, the number of available working days is generally about equal across the province and all of the systems field operations can be performed within the required time. Therefore, no penalty costs with respect to late seeding would be incurred. However, the systems which required less time to complete field operations allow for

greater flexibility if unfavorable weather conditions are encountered or if additional field operations are required (e.g. incorporation of pre-emergence herbicides).

7.2 MACHINERY COSTS

Machinery costs for the various systems as calculated in Appendix 6 are summarized in Table 7.3. The costs varied from \$10,345 for Systems 2A and 3A to \$14,293 for System 2B. System costs were directly related to the number of hours required to complete the required operations and to the complement of equipment that was used.

The air seeder is a relatively expensive machine to operate. Systems which required two passes of the air seeder as well as a pass with the cultivator (Systems 2B and 5A) had the highest machinery costs. The advantage of the air seeder comes from combining field operations. When seeding is combined with preseeding tillage as in Systems 3B and 4A, machinery costs decrease because fewer hours are required to complete field operations. Systems 2A and 3A which used the ammonia liquifying unit to apply nitrogen and the seed drill to apply phosphorus had the lowest machinery costs. The ammonia liquifying unit is the most inexpensive method of applying and incorporating nitrogen fertilizer to cultivated soil.

The machinery costs of liquid fertilizer application kits are higher than ammonia liquifying kits or broadcasters

Ð

TABLE 7.3 MACHINERY COSTS FOR THE VARIOUS SYSTEMS (\$/year)

D)

| | | | <i>i</i> • | | |
|---|--------|----------------------|----------------|-------------------|----------------|
| | SYSTEM | TREATMENT | FIXED COSTS | VARIABLE COSTS | TOTAL COSTS |
| | 1 | N-S-BR P-S-IR | 5619 | 5565 | 11,184 |
| | 2A | N-S-BD-A P-S-IR | 5278 | 5067 | 10,345 |
| | 2B | N-S-BD-U P-S-IR | 7716 | 6577 | 14,293 |
| | 3A | N-F-BD-A P-S-IR | 5278 | 5067 | 10,345 |
| | 3B | N-F-BD-U P-S-IR | 6504 | 5101 | 11,605 |
| • | 4A | N-F-BD-G P-F-BD-G | 6359 | 4988 | 11,347 |
| | 4 B | N-F-BD-L P-F-BD-L | · 6620 | 5763 | 3,383 |
| | 5A 🔍 | N-S-BD-G P-S-BD-G | 7572 | 6462 | 14,034 |
| | 5B | N-S-BD-L P-S-BD-L | 6620 | 5763 | 12,383 |
| 4 | 6 | N-F-BR P-S-IR | 5619 | 5565 | T1,184 |
| | 7 | N-F-BR P-F-BR | 5532 | 5515 | 11,047 |
| | 8 | N-S-BR P-S-BR | 532 | 5515 | 11,047 |
| | 9 | N-S-SB P-S-SB | 5948 | 5579 | 11,523 |
| | | | | | |

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

7.1

ŧ,

છ

but lower than air seeders.

Time of fertilizer application (fall vs spring) had no effect upon machinery costs except in cases where field operations were combined (e.g. System 2B vs 3B).

.3 FERTILIZER COSTS

Fertilizer costs for the various systems as calculated in Appendix 7 are summarized in Table 7.4. Included in the fertilizer costs are the interest charges for the fertilizer, which are calculated from the time of purchase to the subsequent harvest. If applicable, costs were calculated for both fall and spring purchased fertilizer. Details of fertilizer prices are in Appendix 4.

Anhydrous ammonia is the lowest cost form of nitrogen fertilizer. Therefore, systems which involved the use of ammonia as the nitrogen source (Systems 2A and 3A) had the lowest fertilizer and interest costs. Granular nitrogen fertilizer (urea) is intermediate in cost Liquid fertilier (nitrogen and phosphorus) is the most expensive formulation of fertilizer. Systems which used liquid fertilizer (4B) and 5B) had the highest fertilizer and interest costs. These costs are substantial; in the range of \$4,000 more than systems which used anhydrous ammonia and granular phosphorus. Therefore, the use of liquid fertilizer in Alberta will probably be limited until the price difference between liquid and other fertilizer forms narrows.*

TABLE 7.4 FERTILIZER AND INTEREST COSTS FOR THE VARIOUS SYSTEMS (\$)

| | | and a state of the | · · · · · |
|------------|-----------------------------|--|------------------|
| SYSTEM | TREATMENT | FALL PURCHASED | SPRING PURCHASED |
| 1 * | N-S-BR P-S-IR | 20,261 | 20,560 |
| 2A | N-S-BD-A P-S-IR | 18,874 | 18,903 |
| ² 2B | N⇒S-BD-U P-S-IR | 20,261 ❖ | 20,560 |
| 3A | N-F-BD-A P-S-IR | 18,691 | 18,720 |
| 3 B | N−F∼BD−U P−S ₹ IR | 20,261 | 20,290 |
| 4A | N-F-BD-G P-F-BD-G | 20,261 | - i |
| 4 B | N-F-BD-L P-F-BD-L | * 22,387 | |
| 5A | N-S-BD-G P-S-BD-G | 20,261 | 20,560 |
| ₩5B | N-S-BD-L P-S-BD-L | | 23,343 |
| 6 | N-F-BR P-S-IR | 20,26 | 20,290 |
| .7 | N−F−BR P−F¬BR | 20,261 | |
| 8 | N-S-BR P-S-BR | 20, 261 , | 20.,550 |
| 9 | N-S-SB P-S-SB | 20,261 | 20,5 🛦 |

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-analydrous ammonia, U-urea, G-granular, L-liquid.

Fertilizer purchased in the fall is generally cheaper than spring purchased fertilizer. In most instances, the difference in fertilizer costs is relatively small (\$300). If storage facilities are available for fall purchased fertilizer, fall purchased fertilizer would be advantageous. In addition, the farmer would have a guaranteed supply and would be protected against problems such as transportation restrictions which could affect fertilizer availability and price in the spring. As well, fall fertilizer delivery is advantageous for the fertilizer manufacturing and distribution system from the standpoint of evening out the flow of fertilizer throughout the year. The disadvantage of purchasing fertilizer in the fall is inflexibility in terms of being able to change forms of fertilizers or analyses if cropping situations or fertilizer recommendations change.

7.4 GRAIN YIELDS

Grain yields, for the various systems, as calculation Appendix wing the previously stated assumptions regarding fertilizer efficiencies, are tabulated in Table 7.5. Grain yields were calculated for three soil moisture conditions low, medium, and high, referring to the amount of soil moisture present during the period from late fall to the following early growing season for a typical soil in central Alberta.

TABLE 7.5 GRAIN YIELDS FOR THE VARIOUS SYSTEMS (t/ha).

| | | | Ŋ | | 1997 - 1 997 - 1997 - |
|------------|----------|----------------------|--------|--------|---|
| • | SISTEM | TREATMENT | LOW | MEDIUM | HIGH |
| | 1 | • | 3.20 | 3.20 | 3.20 |
| Ge | 2A 🔍 | N-S-BD-A P-S-IR | 3.48 | 3.39 | 3.39 |
| • | 2B | N-S-BD-U P-S-IR | • 3.48 | 3.39 | 3.39 |
| | - 3A | N-F-BD-A P-S-IR | 3.48 | 3.11 | 2.92 |
| Э | • 3B | N-F-BD-U P-S-IR | 3.48 | 3.11 | 2.92 |
| | 4 A | N-F-BD-G P-F-BD-G | 3.48 | 3.11 | 2.92 |
| | 4 B | N-F-BD-L P-F-BD-L | 3.48 | 3.11 | 2.92 |
| | 5A | N-S-BD-G P-S-BD-G | 3.48 | 3.39 | 3.39 |
| | 5B 🤤 | N-S-BD-L P-S-BD-L | 3.48 | 3.39 | 3.39 |
| | . 6 | N-F-BR P-S-IR | 3.20 | 2.92 | 2.83 |
| - 1 | ک | N-F-BR P-F-BR | 2.57 | 2.39 | 2.33 |
| - | 8 | N-S-BR P-S-BR | 2.57 | 2.57 | 2.57 |
| • | 9 | N-S-SB P-S-SB | 3 48 | 3.39 | 3.39 |

Low, medium and high refer to the amount of soil moisture from late fall to the following early growing season.

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-gragular, L-liquid,

For all soil moisture conditions, lowest yields were obtained from System 7 where all the fertilizer was broadcast in the fall. The highest yields under low soil moisture conditions were Systems 2A-5B and 9 where the nitrogen fertilizer was banded, either alone or in conjunction with phosphorus. There were no differences due to timing of fertilizer applications (fall or spring) under low soil moisture conditions. This was true for both broadcast and banded applications. The difference between the lowest and highest yielding systems was 0.91 t/ha.

Under medium soil moisture conditions, highest yields were obtained from Systems 2A, 2B, 5A, 5B and 9 where the nitrogen was banded in the spring and the phosphorus was either placed in-row or banded in appluation with nitrogen. Under medium soil is isture conditions, there were differences between fall and spring applications with spring applications yielding about 15% higher than fall applications. This was primarily due to denitrification and leaching losses of fall applied nitrogen as compared to spring applications. Banded applications were more efficient than broadcast applications. The difference between the lowest and highest yielding systems was 1.0 t/ha.

For high soil moisture conditions, the differences between fall and spring applications were even more substantial than under medium soil moisture conditions. Fall fertilizer applications were about 20-25% less effective than spring applications. Again, banded applications were

more efficient than broadcast applications. The difference in yield between the lowest and highest yielding systems was 1.06 t/ha.

In summary, banded fertilizer applications produced a greater yield response than broadcast applications. The yield response increase ranged from 10-15% for nitrogen applications and up to 50% for phosphorus applications. Fall nitrogen applications were as equally effective as spring applications under low soil moisture conditions but fall nitrogen applications were inferior under medium and high soil moisture conditions. Banded phosphorus applications were generally as effective as in-row applications "especially when nitrogen was banded in conjunction with phosphorus.

7.5 NET REVENUE

Net revenue for the various systems, based upon previously assumed fertilizer effectiveness ratings, as calculated in Appendix 7, summarized in Tables 7.6, 7.7 and 7.8 and are ranked in order of decreasing net revenue.

For low soil moisture conditions, highest met revenue was obtained from System 3A (\$110,709) followed closely by System 2A (\$110,526). There were slight differences in net revenue between fall and spting purchased fertilizer (0-\$300). Lowest net revenue was obtained from Systems 7 and 8 (\$71,193). Under low soil moisture conditions, broadcast

| | TABLE | |
|---|-------|--|
| ÷ | | |

7.6 NET REVENUE FOR THE VARIOUS SYSTEMS UNDER LOW SOIL MOISTURE CONDITIONS (\$).

| | 4 * | م کی جزئے | · · · · · · · · · · · · · · · · · · · | ð |
|----|------------|----------------------|---------------------------------------|--------------------------------|
| | SYSTEM | TREATMENT | FALL PURCHASED <u>FERTILIZER</u> | SPRING PURCHASED FERTILIZER |
| E. | 3A. | N-F-BD-A P-S-IR | 110,709 | 110,680 |
| | 2A | N-S-BD-A P-S-IR | 110,526 | 110,497 |
| | 4A | N-F-BD-G P-F-BD-G | 1.8,377 | |
| | 3B | N-F-BD-U P-S-IR | 108,089 | 108,060 |
| | 9 | N-S-SB P-S-SB | 107,684 | 107,385 |
| | 5A | N-S-BD-G P-S-BD-G | 105,150 | 104,851 |
| | 2B | N-S-BD-U P-S-IR | 104,861 | 104,562 |
| | 4 B | N-F-BD-L P-F-BD-L | 104,467 | |
| | 5B | N-S-BD-L P-S-BD-L | | 103,961 |
| | • 6 | N−F−BR P−S−IR | 96,673 | 96,644 |
| | 1 | N-S-BR P-S-IR | 96,673 | 96,374 |
| | 8 | N-S-BR P-S-BR | 71,193 | 70,894 |
| | . 7 | N-F-BR P-F-BR | 71,193 | |

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammenia, U-urea, G-granuter, L-liquid

Ð

- TABLE 7.7 NET REVENUE FOR THE VARIOUS SYSTEMS UNDER MEDIUM SOIL MOISTURE CONDITIONS (\$).

1

| • | | | • • • • • • • • • • • • • • • • • • • |
|--------|-----------------------|------------------------------|---------------------------------------|
| SYSTEM | TREATMENT | FALL PURCHASED FERTILIZER | SPRING * PÜRCHASED FERTILIZER |
| 2A | N-S-BD-A P-S-IR | 106,651 | 106,622 |
| 9. | N-S-SB P-S-SB | 103,809 | 103,510 |
| 5A | N-≉5⊊BD−G P−S−BD−G | 101,275 | 108,976 |
| 2B | N-S-BD-U P-S-IR | 100,986 | 100,687 |
| 5B | N-S-BD-L P-S-BD-L | - | 100,086 |
| 1 | N-S-BR P-S-IR | 96,673 | °96,374 |
| 3A | N-F-BD-A ₽-S-IR | 95,584 | 95,555 |
| 4 A | N-F-BD-G P-F-BD-G | 93,252 | |
| 3B | N-F-BD-U P-S-IR | 92,964 | 92,935 |
| 4 B | N-F-BD-L P-F-BD-L | 89,342 | - - |
| 6 | N-F-BR P-S-IR | 85,29 | 85,269 |
| 8 | N-S-BR P-S-BR | 71,193 | , 2, 70, 894 |
| 7 | N-F-BR P-F-BR | 63,693 | |
| | | | |

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

1.3

| • |
|----------|
| |
| |
| |
| ^ |
| • |
| |
| |
| • |
| • • |
| · . |
| |
| . |
| |
| |

TABLE 7.8 NET REVENUE FOR THE VARIOUS SYSTEMS UNDER HIGH SOIL MOISTURE CONDITIONS (\$).

Treatment abbreviations: N-nitrogen, P-phosphorus, S-spring applied, F-fall applied, BR-broadcast, BD-banded, IR-in-row, SB-sidebanded, A-anhydrous ammonia, U-urea, G-granular, L-liquid.

£

C)

fertilizers led to a 35-40% decrease in net revenue as compared to banded nitrogen and in-row phosphorus. Net revenues were comparable for both spring and fall fertilizer applications.

Under medium soil moisture conditions, the highest net revenue was obtained from System 2A (\$106,651) and the lowest net revenue was obtained from System 7 (\$63,693). The net income from System 7 was 40% less than System 2A. Broadcasting of fertilizers (especially P) produced the lowest yields and therefore had the lowest net revenues. Spring fertilizer applications were generally more effective than fall applications and banded fertilizer applications were more effective than broadcast applications.

System 2A produced the highest net revenues under high soil moisture conditions (\$106,651) and System.7 produced the lowest net revenues (\$61,443). The ranking of the various systems with respect to net revenue for high soil moisture conditions was similar to the ranking under medium soil moisture conditions. However, fall applied fertilizers produced even lower net revenues for high soil moisture conditions than medium soil moisture conditions. This is due to higher overwintering losses (denitrification, leaching) assumed for higher soil moisture conditions as compared to medium soil moisture conditions.

A literature review was undertaken to study different methods of fertilizer application in terms of their effectiveness in increasing grain yields. The aim was to develop a series of fertilizer effectiveness ratings for use in estimating grain yields from different methods of fertilizer application. A review of the different types of equipment available for fertilizer placement was also undertaken.

This information was used to develop thirteen systems of fertilizer application which included variables such as method of fertilizer placement, form of fertilizer used, time of fertilizer application and machinery complement used. Time requirements, machinery costs, fertilizer costs, grain yields and net revenue for the various systems were calculated and compared.

The following conclusions were based with analysis of the operation and performance of the values systems. 1. Combining field operations (e.g. cultivation and fertilizer placement, cultivation and seeding) is an effective method of reducing time requirements and machinery costs.

The air seeder is a good implement for seeding when used to reduce the number of field passes. However, when used for the same number of field passes as a conventional seed drill, the machinery costs are higher than for a

· 82

conventional drill. The air seeder is an effective machine for banding of granular fertilizer. However, the seeding operation should also be performed with the air seeder in order to spread out the high fixed costs over a greater number of hours of use.

- 3. The application of phosphorus fertilizer in-row in the spring does not require an excessive amount of time as compared to straight seeding as long as the proper equipment (drill-fills, augers, large capacity fertilizer wagons) are used in the handling of fertilizer.
- 4. The highest net revenue was obtained from either Systems 2A or 3A where the nitrogen fertilizer was banded in the spring or fall respectively in the form of anhydrous ammonia and phosphorus fertilizer was placed in-row. System 3A produced the highest net revenue under low soil moisture conditions and System 2A produced the highest net revenue under medium and high soil moisture conditions.

0

5.

Lowest net revenue for all soil moisture conditions was obtained from System 7 where all the fertilizer was broadcast in the fall. This system produced only 55-65% as much net income as the systems which produced the highest net revenue.

6. Anhydrous ammonia is the least expensive form of nitrogen fertilizer and will probably remain so in the forseeable future because of lower manufagturing costs.

8.3

Granular urea is the cheapest form of granular nitrogen because of its high analysis and is an ideal fertilizer for farmers who prefer granular fertilizers for banding. Granular phosphorus (monoammonium phosphate) is the least expensive form of phosphorus fertilizer. Liquid fertilizers (nitrogen and phosphorus) are the most expensive forms of fertilizer. Liquid fertilizer products result in about a 20% pase in fertilizer costs as compared to the use rous ammonià and monoammonium phosphate as the s of N and P. respectively. Therefore, the use of liquid fertilizer products will likely remain limited in Alberta until the price difference between liquid and granular fertilizer products narrows.

7. Fall purchased fertilizer is generally more economical than spring purchased fertilizer: There are the added a tages for the farmer of guaranteed supply and price advantage for the fertilizer industry of spring out the anufacturing and distribution processes of fertilizer over a greater portion of the year.

The method of fertilizer application that should be employed is dependent upon the factor that is chosen to be optimized. Differences among growing seasons in terms of 'available time, machinery availability and suitability, fertilizer costs and available soil moisture are important factors which should be considered before choosing a particular method of fertilizer application. The method of fertilizer application ultimately chosen should be one that is expected to maximize net revenue i ms of the given constraints present at the time.

9. RECOMMENDATIONS FOR FURTHER WORK

As a result of the various observations and conclusions obtained from this study, a number of recommendations for (further work have been developed.

- Equipment with proper trash clearance and penetration capabilities and large seed and fertilizer hoppers should be developed to facilitate sidebanding of fertilizers in conjunction with the seeding operation.
- Equipment should be developed to facilitate banding of fertilizers for zero tilled and forage crops to maximize crop response to fertilizer and minimize soil disturbance.
- The relationship between depth and spacing of fertilizer bands to crop response should be developed.
- 4. Further work towards the development of yield curves for different crops under different soil moisture conditions for various areas in the province should be undertaken.
- 5. Further work on crop response from various fertilizer placements should be performed on other crops such as canola. The amount of fertilizer research performed on canola is small in comparison to the importance of canola to the prairies.
- 6. The addition of other nutrients (K, S, micronutrients) in a common band with N and P and their influence on fertilizer uptake and crop growth should be studied.

REFERENCES

Alberta Agriculture. 1984. Alberta Fertilizer Guide. Agdex 541-1.

American Society of Agricultural Engineers (ASAE). 1984. ASAE Standards. Sc. Joseph, Michigan.

Andruchow, L.J. 1982. Farm Machinery Costs. Agdex 825-12. Alberta Department of Agriculture.

Bailey, L.D., H. Ukrainetz and D.R. Walker. 1980. Effect of phosphorus placement on crop uptake and yield. Proceedings of the 1980 Annual Alberta Soil Science Workshop.

Beaton, J.D. 1980. The role of NPKS. In Prairie Production Symposium of the Canadian Wheat Board Advisory Committee.

Beaton, J.D. 1982. Phosphorus soil building. In Placement for Profit, 1982 Simplot Dealer Meeting, Brandon, Manitoba.

Behmer, D.E. 1977. Introduction. In Band Application of _____ Phosphatic Fertilizers, Olin Corporation. Little Rock,

Arkansas.

Bole, J.B. 1966. Phosphorus placement for wheat. M.Sc. thesis, Department of Soil Science, University of Saskatchewan, Saskatoon, Saskatchewan.

Bole, J.B., A.M.F. Hennig, D.K. McBeath, J.A. Robertson and M. Nyborg. 1977. Alberta research data on phosphorus placement methods. Proceedings of the Phosphorus Workshop of the Western Canada Soil Coordinating Committee.

J.B., J.T. Harapiak, S.S. Malhi and D.C. Penney. 1984.
 Regional and environmental influences on nitrogen use
 efficiency. Proceedings of the 1984 Annual Alberta Soil
 Science Workshop.

Briggs, K.G. 1985. Personal communication. Department of Plant Science, University of Alberta.

Cunningham, F.M. 1963. Performance characteristics of bulk distributors for granular fertilizers. Transactions of the ASAE, Vol. 6, No. 2. ASAE, St. Joseph, Michigan.

Dibb, D.W. 1978. Phosphorus and placement. In Phosphorus for Agriculture- A Situation Analysis, Potash-Phosphate Institute, Atlanta, Georgia.

Dubetz, S., R.L. Smith and G.C. Russell. 1959. The effect of fertilizers and osmotic pressure on germination.

Gray, E.L. and E.H. Buckingham. 1930. Report of the cooperative fertilizer trials, season of 1930. Alberta Department of Agriculture.

Green, M. 1984. Fertilizer application equipment- general management. Proceedings of the 1984 Annual Breton Plots Field Day and Soils-Crops Clinic. University of Alberta.

Harapiak, J.T. 1979a. A comparison of fall and spring applied nitrogen. Proceedings of the 1979 Annual Alberta Soil Science Workshop.

Harapiak, J.T. 1979b. A case for sub surface banding of nitrogen. Proceedings of the 1979 Annual Alberta Soil Science Workshop.

Harapiak, J.T. 1980. Approaches to applying phosphatic fertilizers. Proceedings of the 1980 Annual Alberta Soil Science Workshop.

Harapiak, J.T., N.A. Flore and J.G. Timmermans. 1982. Deep banding of N-P fertilizers, some conclusions and

recommendations. Proceedings of the 1982 Annual Saskatchewan Soils and Crops Workshop.

Harapiak, J.T. and D.C. Penney. 1984. Efficient use of nitrogen, the N-P interaction. Proceedings of the 1984 Annual Alberta Soil Science Workshop.

Harapiak, J.T. 1984a. Placement of phosphatic fertilizers. Proceedings of the 54th Annual Breton Plots Field Day and Soils-Crops Clinic. University of Alberta.

Harapiak, J.T. 1984b. Fall Deep Banding- The Best of Fertilizer Forum. Extension publication. Western Cooperative Fertilizers Limited, Calgary, Alberta.

Heaney, D.J., A.T. Blades, S.S. Malhi and M. Nyborg. 1984. Changes in crop available nitrogen in soils in winter: mineralization, immobilization and denitrification. Proceedings of the 1984 Annual Alberta Soil Science Workshop.

Heinonen, R. and A. Huhtapalo. 1978. Fertilizer placement for small grains. Department of Soil Sciences, Swedish University of Agricultural Sciences, Uppsala, Sweden.

Houlton, H.A.R. and H.R. Armstrong. 1980. Dual injection placement of nitrogen and phosphorus fertilizers in

Montana. Research report, Northern Agricultural Research Center, Havre, Montana.

Hunt, D.R. 1983. Farm Power and Machinery Management, 8th edition. Iowa State University Press. Ames, Iowa.

Kepner, R.A., R. Bainer and E.L. Barger. 1972. Principles of Farm Machinery, 2nd edition. AVI Publishing Company, Westport, Connecticut.

Malhi, S.S., M. Nyborg, J.T. Harapiak and D.C. Penney. 1984. Efficiency of fall applied nitrogen as influenced by method of placement and date of fall application. Proceedings of the 1984 Annual Alberta Soil Science Workshop.

Murphy, L. 1982. Background to banding- improved efficiency, higher yields. In Placement for Profit, 1982 Simplot Dealer Meeting, Brandon, Manitoba.

Nyborg, M. 1961. The effect of fertilizers on emergence of cereal grains, flax and rape. Canadian Journal of Soil Science. Vol. 41.

Nyborg, M. and A.M.F. Hennig. 1969. Field experiments with different placements of fertilizers for barley, flax and rapeseed. Canadian Journal of Soil Science. Vol. 49.

Nyborg, M. and R.H. Leitch. 1979. Losses of soil and fertilizer nitrogen in northern Alberta. Proceedings of the 1979 Annual Alberta Soil Science Workshop.

Nyborg, M., S.S. Malhi and C. Monreal. 1980. Unconventional methods of fertilizer placement to reduce losses of fall applied nitrogen. Proceedings of the 1980 Saskatchewan Soils and Crops Workshop.

Nyborg, M. 1984. Placement of nitrogen fertilizers. Proceedings of the 54th Annual Breton Plots Field Day and Soils-Crops Clinic. University of Alberta.

Prairie Agricultural Machinery Institute (PAMI). 1978a. Evaluation report #E0177A. Massey Ferguson 63 Grain Drill.

PAMI. 1978b. Evaluation report #E0177B. John Deere 9350 Grain and Fertilizer Drill.

PAMI. 1978c. Evaluation report #E0177C. International Marvester 620 Grain and Fertilizer Drill.

PAMI. 1978d. Evaluation report #E1977A. Allied 7x41 Grain Auger.

PAMI. 1978e. Evaluation report #E1977B. Sakundiak HD7-41 Grain Auger.

- PAMI. 1978f. Evaluation report #E1977D. Brandt 740 Grain Auger.
- PAMI. 1979a. Evaluation report #E1377B. Coop Implements 204 Heavy Duty Cultivator.
- PAMI. 1979b. Evaluation report #E1377C. Lely S-8-6 Walking Shank Chisel Plow.
- PAMI. 1979c. Evaluation report #E2178A. Friggstad C5-43 Heavy Duty Cultivator.
- PAMI. 1979d. Evaluation report #E2178B. Massey Ferguson 128 Heavy Duty Cultivator.

PAMI. 1979e. Evaluation report #E2178C. Melroe 505 Heavy Duty Cultivator.

PAMI. 1979f. Evaluation report #E3678A. Leon CP77-334 Chisel

PAMI. 1980a. Evaluation report #E3279A. Morris CP631 Chisel Plow.

PAMI. 1980b. Evaluation report #E3279B. Wilrich 13CPW Heavy Duty Cultivator.

PAMI. 1981a. Evaluation report #E3580A. John Deere 1610 Chisel Plow.

٦.

; *

٩

PAMI. 1981b. Evaluation report #E3580B. Bush Hog CP-7815 Chisel Plow.

PAMI. 1981c. Evaluation report #E0779B. Farm King 7x41A Grain Auger.

PAMI. 1982a. Evaluation report #294. Morris M10 Press Drill.

PAMI. 1982b. Evaluation report #277. Flexicoil System 90 Harrow Packer Drawbar.

PAMI. 1982c. Evaluation report #280. Edwards CSF-833 Heavy Duty Cultivator.

PAMI. 1982d. Evaluation report #271. Flexicoil Air Flow Seeder.

PAMI. 1983. Evaluation report #304. Blanchard Hydralift Harrow Packer Drawbar.

PAMI. 1984a. Evaluation report #332. Blanchard 5x16 Drill

PAMI. 1984b. Evaluation report #333. Brandt 5x15 Drill Fill.

Porteous, C. and G. Andres. 1983. Economics of Alternative Methods of Anhydrous Ammonia Application. Agdex 825-14, Alberta Department of Agriculture.

Racz, G.J. 1979, Losses of fertilizer nitrogen*as affected by time and method of application- Manitoba. Proceedings of the 1979 Annual Alberta Soil Science Workshop.

Racz, G.J. 1982. Fertilizer placement in-row. In Placement for Profit, 1982 Simplot Dealer Meeting, Brandon, Manitoba.

Reed, W.B. and E. Wacker. 1968. Determination of the distribution pattern of dry fertilizer applicators. ASAE paper 68-603. ASAE, St. Joseph, Michigan.

Ridley, A.O. 1977. Nitrogen fertilizers, time and method of placement. Proceedings of the 1977 Annual Manitoba Soil • Science Meeting.

Robertson, J.A., K.W. Domier and D.C. Penney. 1982.

Placement of P fertilizers in direct drilled and,tilled seedbeds. Proceedings of the 1982 Annual Manitoba Soil Science Meeting.

Robertson, J A. 1984. Personal communication. Department of Soil Science, University of Alberta.

Rogalsky, E.J. and A.O. Ridley. 1984. Fertilizer placement for maximum yields of barley, flax and rapeseed. Proceedings of the 1984 Annual Manitoba Soil Science Meeting.

Russell, D.G. 1969. Optimum field machinery sizes for Alberta farms. M.Sc. Thesis. Department of Agricultural Engineering, University of Alberta.

Smith, F.W. 1977. Fertilizer placement for wheat. In Band Application of Phosphatic Fertilizers. Olin Corporation. Little Rock, Arkansas.

Spratt, E.D. and D.W.L Read. 1980. Long term benefits of residual phosphorus for small grains and forage crops. Proceedings of the 1980 Annual Alberta Soil Science Workshop.

Toews, W.H. 1982. A field evaluation of dual deep placed nitrogen and phosphorus on four Manitoba soils using barley, flax and rapeseed as test crops. Proceedings of the 1982 Annual Manitoba Soil Science Meeting.
Ukrainetz, H., R.J. Soper and M. Nyborg, 1975. Plant nutrient requirements of oilseed and pulse crops. In Oilseed and Pulse Crops in Western Canada. Western Cooperative Fertilizers, Calgary, Alberta.

97

APPENDIX 1. POWER REQUIREMENTS OF VARIOUS CHISEL PLOWS

TESTED BY PAMI.

| Wo | rking Width | Power Re | equired |
|---------------------------------------|-------------|-------------|---------------|
| Make & Model | <u>(m)</u> | <u>(kW)</u> | <u>(kw/m)</u> |
| · · · · · · · · · · · · · · · · · · · | · · · | • | • |
| John Deere 1610 | 10.2 | 153 | 15 |
| Bush Hog CP7815 | 12 | 180 | 15 |
| Co-op Implements 204 | 8.3 | .122 | 14.7 |
| Lely S-8-6 | 6.6 | 97 | 14.7 r |
| Friggstad C5-43 | 13.1 | 193 | 14.7 |
| Massey Ferguson 128 | 10 | 147 | 14.7 |
| Melroe 505 | 8.2 | 120 | 14.6 |
| Leon CP77-334 | 10.4 | 153 | 14.7 |
| Morris CP631 | 11.3 | . 167 | 14.8 |
| Wilrich 13CPW | 11.3 | 167 | 14.8 |
| Edwards CSF-833 | 9.9 | 145 | 14.6 |
| | · · · | | |
| Average | 10.1 | 149.5 | 14.8 |

Power requirements presented are maximum PTO ratings and have been adjusted to include tractive efficiency and represent a tractor operating at 80% maximum power on a level field.

| <u>Make & Model</u> | Power required | Capa | cities (L/m) |
|-------------------------|----------------|-----------|------------------------------|
| | <u>(kW/m)</u> | Seed Box | <u>Fertilizer</u> <u>Box</u> |
| • | · · · · · · | • | |
| IHC 620 | 9.22 | 233 | 135 |
| JD 9350 | 7.58 | 201 | 143 |
| MF 63 | • 8.61 | 167 | 131 |
| MORRIS M10 | ´9.33 | 213 | 137 |
| • | ° | · · · · · | |
| Averages | 8.69 | 204 | 137 |

99

APPENDIX 2. SEED DRILL PARAMETERS AS TESTED BY PAMI.

۹

ger Stage og

APPENDIX 3. CALCULATION OF AUGER CAPACITIES

The capacities of the various augers were derived in the following manner:

- The capacities of various 18 cm augers in wheat and oats were obtained from PAMI reports (PAMI 1978d, 1978e, 1978f, 1981c).
- 2. The capacity in barley was obtained by averaging the capacities obtained in wheat and oats (36.2 + 27.3 + 49.2 + 31.8 + 37.5 + 25.5 + 43.7 + 32.9)/8= 35.5 t/h.
- 3. The capacities of the 12.7 cm drill fills (PAMI 1984A, 1984B) in barley were obtained in a similar manner (21.2 + 16.9 + 14.6 + 9.6)/4= 15.6 t/h.
- 4. The capacity of the 12.7 cm drill fill in fertilizer was obtained by averaging the values given in the report for fertilizer (8.8 + 10.1)/2 = 9.5 t/h.
- 5. Since the 18 cm auger was not tested in fertilizer by PAMI, its capacity was derived in the following manner. The capacities of the 12.7 cm drill fills in fertilizer averaged out to be 0.583 times the capacity in wheat. Therefore, this same ratio of 0.583 was multiplied by the average capacity of the 18 cm augers in wheat which equals 24300 kg/h.

100

APPENDIX 4. FERTILIZER PRICES.

| | FERTILIZER PRICES \$/L | | | | | |
|------------------|------------------------|------------------|--------------|-----------------------|--|--|
| Product | Fall price | cost/kg | Spring price | <u>cost/kg</u> | | |
| 82-0-0 | 413 | 0.50 | 454 | 0.55 | | |
| 46-0-0 | 264 | 0.57 | 290 | 0.63 | | |
| 11- 22- 0 | 357 | N 0.57 P 1.32 | 392 | N 0.63 P 1.43 | | |
| 28-0-0 | 180 | 0.64 | 198 | 0.71 | | |
| 10-15-0 | 286 | N 0.64 P 1.50 | 315 · | ₿ N 0.71 P 1.65 | | |

FERTILIZER PRICES \$/t

cost/kg= cost per kg of nutrient

Fertilizer prices were obtained from telephone conversations with several Alberta fertilizer dealers, (November, 1984)

101

;

APPENDIX 5. CALCULATION OF MACHINERY COSTS FOR A LIQUID FERTILIZER DISTRIBUTION KIT

Cost of kit includes flow divider, pump, filter, polyethylene tank, nurse tank pump, manifold, lines and shank tips for a 9.14 m cultivator.

The cost of the kit (\$9500) was obtained over a telephone conversation in January 1985 with Green Drop Fertilizers, Calgary, Alberta.

Depreciation= (Original cost - Residual value)/Years of use =(\$9500 - \$0)/15= \$633/year

Interest= ((Original cost + Residual value)/2) * Int. rate

= ((\$9500 + \$0)/2) * (0.15) = \$713/year

Insurance and housing= Original cost * 1%

= \$9500 * 0.01= \$95/year

Total annual fixed costs= \$1441 Hourly fixed costs= \$1441/60 h= \$24/h

Variable costs= repairs

Repair rate= \$1.24/h/\$1000 of original cost

$$=$$
 \$1.24/h * 9.5= \$12/h

Total hourly costs= fixed + variable

$$=$$
 \$24 + \$12= \$36/h

The formulas for depreciation, interest, insurance and housing, and repairs were obtained from (Andruchow 1982).

APPENDIX 6. CALCULATION OF TIME REQUIREMENTS AND MACHINERY

SYSTEM 1. N BROADCAST IN THE SPRING, P IN-ROW IN THE SPRING

The time required for cultivation is obtained using equation 3.1.

C = (S W E) / 10

C= effective capacity (ha/h)
S= 8 km/h
W= 9.14 m
E= 0.825

C = (8*9.14*0.825)/10 = 6.03 ha/h

Hours for cultivation= 325 ha/(6.03ha/h)= 54 h

Time required for broadcasting of nitrogen:

C = (S W E) / 10

S = 12 km/h $\dot{W} = 13.7 \text{ m}$

E= 0.825

C=(12*13.7*0.825)/10= 13.56 ha/h

Time required for filling of broadcaster:

N application rate= 60 kg/ha

amount of fertilizer to be applied

60 kg/ha*(1 kg fert/0.46 kg of N)*325 ha= 42391 kg number of spreaders required

42390 kg/(4000 kg/spreader)= 11 spreaders Time required to auger fertilizer into spreader using

18 cm auger:

capacity of auger= 24300 kg/h (Appendix 3)

(4000 kg/spreader)*(1 h/24300 kg)=

0.166 h/spreader

assume 0.166 h/spreader for setting up

fill-up time= 0.166 + 0.166= 0.332 h/spreader

Hours for filling of broadcaster

11 loads * 0.332 h/load= 3.7 h

Total time required for broadcasting of N fertilizer

24 h + 3.7 h = 27.7 h

Time required for seeding

field time

C = (S W E) / 10

S = 8 km/h

W= 11 m

E= 0.825

C= (8*11*0.825)/10= 7.26 ha/h

field time= 325 ha/(7.26 ha/b)= 44.8 h · `

filling time

seeding rate= 90 kg/ha

density of seed= 0.62 kg/L

seed drill capacity= 2244 L * (0.62 kg/L)= 1391 kg area seeded with one drill

1391 kg/(90 kg/ha)= 15.4 ha capacity of drill fill in grain= 15600 kg/h (App. 3) time to fill drill with grain

1391 kg/(15600 kg/h)= 0.089 h fertilizing rate (P)= 13 kg/ha amount of fertilizer applied

(13 kg/ha of P)*(1 kg fert/0.22 kg of P)=

59 kg/ha

amount of fertilizer loaded per drill

(59 kg/ha)*(15.4 ha/drill)= 909 kg

capacity of drill fill in fertilizer= 9500 kg/h

(Appendix 3)

time required to fill drill with fertilizer

(909 kg/drill)/(9500 kg/h) = 0.096 h

setting up time= 0.166 h/drill

total filling time per drill= 0.089+0.096+0.166= 0.351 h
number of drills-fills required= 325 ha/(15.4 ha/drill)=

22 drill-fills

filling (time (over season) = 22 drills*(0.351 h/drill) =

7.7 h

Total time for seeding= 44.8 h + 7.7 h= 52.5 h

Total time for System 1

Fall- 54 h Spring- 134.2 h Total- 188.2 h

Yearly machinery costs (\$) for System 1 (Andruchow 1982)

| • | Hours | | | Total |
|-----------------|------------|------------|-----------------------------|--|
| Machine | of Use | Fixed Cost | <u>Variable</u> <u>Cost</u> | the second s |
| Tractor | 188.2 | 2104 | 3836 | 5940 |
| Cultivator | 108 | 1029 | 712 | 1741 |
| Mounted harrows | 108 | 188 | 39 | 227 |
| Broadcaster | 27.7 | 250 | 125 | 375 |
| Seed drill | 52.5 | 2048 | 853 | 2901 |
| Total | - - | 5619 | 5565 | 11,184 |
| | | | | |

SYSTEM 2A. N BANDED IN THE SPRING WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING

Time required for fall cultivation= 54 h (from System 1)

Time required for spring cultivation-banding

field time= 54 h (from System 1)
time required for tank fill-ups

volume of tank = 4000 L

specific gravity of anhydrous ammonia= 0.635 kg/Lmass of NH, per tank= 4000 L * (0.635 kg/L)= 2540 kg total amount of NH, required

60 kg/ha of N * 325 ha *

(1 kg NH,/0.82 kg of N)= 23780 kg number of tanks required

23780 kg/ 2540 kg/tank= 10 tanks assume 0.25 h fill-up time per tank total time required for tank fill-ups

0.25 h/tank * 10 tanks = 2.5 h

Total time required for spring cultivation-banding 54 h + 2.5 h= 56.5 h

Time required for seeding= 52.5 h (from System 1)

Total time required for System 2A

Fall 54 h Spring 109 h Total 163 h

Yearly machinery costs (\$) for System 2A (Andruchow 1982)

| | •• | | | • | |
|-----------------|-----------------|-------------|----------------------|-----------------------------|--------|
| Machine | Hours of Use | Fixed Cost | <u>Variable</u> Cost | <u>Total</u> <u>Cost</u> | • |
| Tractor | 163 | 1823 | 3321 | 5144 | |
| Cultivator | 110.5 | +053 | 728 | 1781 | i on è |
| Mounted harrows | 110.5 | 192 | 40 | 232 | |
| Cold flo kit | 56.5 | 162 | 125 | 287 | |
| Seed drill | 52.5 | <u>2048</u> | <u>853</u> | <u>2901</u> | |
| Total | | 5278 | 5067 | 10,345 | |

 \mathcal{O}

e

108

SYSTEM 2B. N BANDED IN THE SPRING WITH AIR SEEDER, P IN-ROW IN THE SPRING

Time required for fall cultivation = 54 h (System 1)

Time required for spring cultivation-banding

field coverage time= 54 h

time required for tank fill-ups

tank volume= 6526 L

density of urea= 0.78 kg/L

tank capacity= 6526 L * (0.78 kg/L)= 5090 kg

capacity of 18 cm auger= 24300 kg/h (Appendix 3)

time per load= 5090 kg/load * (1 h/24300 kg)=

set up time = 0.166 h/load

number of loads required

325 ha*60 kg/ha of N * (1 kg fert/0.46 kg of N)*

(1 load/ 5090 kg fert)= 9 loads

time required for tank fill-ups

9 loads * (0.209 + 0.166) h/load= 3.4 h

Time required for spring cultivation-banding

54 h + 3.4 h = 57.4 h

Time required for seeding

field coverage time= 54 h

fill-up times

grain

grain tank volume= 3318 L density of grain= 0.62 kg/L grain tank capacity= 3318 'L * (0.62 kg/L)= 2057 kg capacity of drill fill= 15600 kg/h (Appendix 3) time required to fill grain tank

2057 kg/(15600 kg/h)= 0.132 h

seeding rate= 90 kg/ha

area seeded per tank= 2057kg/(90 kg/ha)= 22 ha fertilizer

amount required to fill per tank

```
13 kg of P/ha * (1 kg fert/0.22 kg of P) *
```

22 ha= 1294 kg

capacity of drill fill in fertilizer= 9500 kg/h time required to fill fertilizer tank

1294 kg/(9500 kg/h) = 0.136 h

total fill-up time per tank

0.132 h + 0.136 h + 0.166 h = 0.434 h

number of tankfuls required

325 ha * (1 tank/ 22 ha)= 15 tanks

Total fill-up time over seeson

15 tanks * 0.434 h/tank= 6.5 h

Total seeding time = 54 h + 6.5 h = 60.5 h

Time required for harrow-packing

Machine capacity

C = (S W E) / 10

S= 9 km/h W= 18.3 m

E = 0.825 m

C= (9*18.3*0.825)/10= 13.6 ha/h

Time required for harrow packing= 325 ha/(13.6 ha/h)= 24 h

Total time required for System 2B

| Fall cultivating | 54 | h | |
|----------------------------|------|----|--|
| · · · · | •- | •• | |
| Spring cultivating-banding | 57.4 | h | |
| Seeding | 60.5 | h | |
| Harrow packing | 24 | h | |
| Total | 196 | h | |

Yearly machinery costs (\$) for System 2B (Andruchow 1982)

•

| | Machine | <u>Hours</u> of <u>Use</u> | Fixed Cost | Variable Cost | <u>Total</u> <u>Cost</u> | | |
|---|-----------------|-------------------------------|------------|---------------|-----------------------------|--|--|
| | Tractor | 196 | 2192 | 3994 | 6186 | | |
| | Cultivator | 172 | 1639 | 1134 | 2773 | | |
| | Mounted harrows | 172 | 299 | 62 | 361 | | |
| | Air seeder | 118 | 3008 | 1272 | 4280 | | |
| | Harrow-packer | 24 , | <u>578</u> | <u>115</u> | <u>693</u> | | |
| ~ | Total | ۴ | 7716 | 6577 | 14,293 | | |
| | | | | • · | • | | |

112

SYSTEM 3A. N BANDED IN THE FALL WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING 113

6

Fall cultivation-banding= 56.5 h

(same as System 2A, spring cultivation-banding)

Spring cultivation= 54 h (System 1)

Seeding= 52.5 h (System 1)

Total time required for System 3A Fall 56.5 h Spring 106.5 h Total 163 h

Yearly machinery costs for System 3A= \$10,345 (same as System 2A) SYSTEM 3B. N BANDED IN THE FALL WITH AIR SEEDER, P IN-ROW IN THE SPRING

Fall cultivation-banding= 57.4 h (same as System 2B, spring)

Seeding= 60.5 h (same as System 2B)

Harrow-packing= 24 h (same as System 2B)

Total time

| Fall | 57.4 h | |
|--------|--------|--|
| Spring | 84.5 h | |
| Total | 142 h | |

Yearly machinery costs (\$) for System 3B (Andruchow 1982)

.

. 1

| | | | | • _ |
|-----------------|------------------------|------------|--------------|-----------------------------|
| Machine | <u>Hours</u> of Use | Fixed Cost | Variable Cos | <u>Total</u> <u>Cost</u> |
| Tractor | 142 | 1588 | 2894 | 4482 |
| Cultivator | 118 | 1125 | - 777 | 1902 |
| Mounted harrows | 118 | 205 | 43 | 248 |
| Air seeder | 118 | 3008 | 1272 | 4280 |
| Harrow-packer | 24 | <u>578</u> | 115 | <u>693</u> |
| Total | - | 6504 | 5,101 | -11,605 |
| · | • | | V V | |

SYSTEM 4A. GRANULAR N & P DEEP BANDED IN THE FALL

Fall cultivation-NP banding

field coverage time= 54 h (System 1)

fill-up time

£.

volume of tank= 6526 L

applying N&P blend of 46-0-0 and 11-22-0

amount of 46-0-0 required -

60 kg of N/ha * (1 kg fert/0.46 kg of N)=

130 kg/ha

amount of 11-22-0 required

13 kg of P/ha * (1 kg fert/0.22 kg of P)=

59 kg/ha

rate of blend required 🎽

130 kg/ha*+ 59 kg/ha= 189 kg/ha

density of fertilizer blend

(130 kg * (0.78 kg/L)) + (59 kg * (0.85 kg/L))/189= 0.80 kg/L

capacity of tank= 6526 L * (0.80 kg/L)= 5221 kg
capacity of 18 cm auger in fertilizer=

24300 kg/h (Appendix 3)

time to fill # tank

5220 kg/h * (1 h/24300 kg/t)= 0.215 h

0.215h + 0.166 h (set up)= 0.381 h

area covered with 1 tank

number of tanks required= 325 ha/(27.6 ha/tank)=

12 tanks

total tank fill-up time required

12 tanks * 0.381 h/tank= 4.6 h

Total time required for fall cultivation-NP banding

54 h + 4.6 h= 58.6 h

Time required for seeding

field coverage time= 54 h (System 1)

grain fill-up time

volume of tank= 6526 L

density of barley= 0.62 kg/L

capacity of tank= 6526 L * 0.62 kg/L= 4046 kg

seeding rate= 90 kg/ha

area covered per tank= 4046 kg/(90 kg/ha)= 45 ha

capacity of 18 cm auger in barley=

35500 kg/h (Appendix 3)

time to fill 1 tank

4046 kg/tank * (1 h/35500 kg) = 0.114 h

0.114 h + 0.166 h (set up)= 0.28 h/tank

number of tanks required

325 ha/(45 ha/tank) = 8 tanks

total fill-up time= 0.28 h/tank * 8 tanks= 2.3 h

Total time required for seeding= 54 h + 2.3 h = 56.3 h

Time required for harrow-packing= 24 h (System 2B)

Total system time

...

Fall 58.6 h Spring 80.3 h Total 139 h

Yearly machinery costs (\$) for System 4A (Andruchow 1982)

| Machine | <u>Hours</u> of <u>Use</u> | Fixed Cost | <u>Variable</u> Cost | <u>Total</u> <u>Cost</u> |
|-----------------|-------------------------------|------------|----------------------|-----------------------------|
| Tractor | 139 | 1554 | 2832 | 4386 |
| Cultivator | 115 | 1096 | 759 | 1855 |
| Mounted harrows | 115 | 200 | 42 | 242 |
| Air seeder | 115 | 2931 | 1240 | 4171 |
| Harrow-packer | 24 | 578 | 115 | <u>693</u> |
| Total | • | 6359 | 4988 | 11,347 |

Fall cultivation-banding

field coverage time= 54 h

fill-up time

applying N & P blend of 28-0-0 and 10-15-0 amount of 10-15-0 fertilizer required

13 kg of P/ha * (1 kg fert/0.15 kg of P)= 87 kg/ha

amount of N in 87 kg of 10-15-0= 87 * 0.10= 8.7 kg amount of 28-0-0 fertilizer required

65 kg/ha - 8.7 kg/ha= 56.3 kg/ha

56.3 kg of N/ha * (1 kg fert/0.28 kg of N)= 201 kg/ha

total amount of blend required= 201 + 87= 288 kg/ha density of fertilizer blend

(201 kg * (1.28 kg/L)) + (87 kg * (1.42 kg/L))/288 =1.32 kg/L

volume of nurse tank= 5680 L
capacity of nurse tank= 5680 L * 1.32 kg/L= 7500 kg
area covered per tank= 7500 kg/(288 kg/ha)= 26 ha
number of tanks required

325 ha/(26 ha/tank)= 13 tanks capacity of nurse tank pump= 12000 L/h time required to fill nurse tank

5680 L/(12000 L/h) = 0.473 h + 0.166 h (set up)

= 0.639 h/tank

total fill-up time= 13 tanks * 0.639 h/tank= 8.3 h
Total time required for fall cultivation-NP banding

54 h + 8.3 h = 62.3 h

Spring cultivation

time required= 54 h

Seeding

ý.

field coverage time= 44.8 h (System 1)

fill-up time

seed= 0.089 h/drill (System 1)

setup= 0.15 h/drill (no fertilizer to handle)

number of fill-ups required= 22 (System 1)

total fill-up time= 22 * (0.089 + 0.15)= 5.3 h

Total seeding time= 44.8 h + 5.3 h= 50.1 h

Total time required for System 4B

| Fall | 62.3 | h |
|--------|-------|---|
| Spring | 104.1 | h |
| Total | 166.4 | h |

Yearly machinery costs (\$) for System 4B

((Andruchow 1982) and Appendix 5)

١

| · · . | | | | m + + + -] |
|-----------------|-----------------|------------|-----------------------------|-----------------------------|
| Machine | Hours of Use | Fixed Cost | <u>Variable</u> <u>Cost</u> | <u>Total</u> <u>Cost</u> |
| Tractor | 166.4 | 1861 | 3391 | 5252 |
| Cultivator | 116.3 | 1108 | 767 | 1875 |
| Mounted harrows | 116.3 | 202 | 42 | 244 |
| _Liquid kit | 62.3 | 1495 | 748 | 2243 |
| Jeed drill | 50.1 | 1954 | 815 | 2769 |
| httal . | 10 10 | 6620 | 5763 | 12, 383 |
| | | | | • |

A

120

SYSTEM 5A. GRANULAR N & P DEEP BANDED IN THE SPRING

Fall cultivation

time required= 54 h (System 1)

Spring cultivation-NP banding

time required= 58.6 h

(System 4, fall cultivation-banding)

Seeding

time required= 56.3 h (System 4)

Harrow-packing

time required= 24 h (System 2B)

Total system time

Fall 54 h

Spring 139 h

Total 193 h

Yearly machinery costs (\$) for System 5A (Andruchow 1982)

| <u>Machine</u> | <u>Hours</u> of Use | Fixed Cost | Variable Cost | <u>Total</u> <u>Cost</u> |
|-----------------|------------------------|------------|---------------|-----------------------------|
| Tractor | 193 | 2159 | 3932 | ° 6091 • |
| Cultivator | 169 | 1610 | 1114 | 2724 |
| Mounted harrows | 169 | 294 | 6 1 | 355 |
| Air seeder | 115 | · 2931 . | 1240 | 4171, |
| Harrow-packer | 24 | 578 | <u>115</u> | <u>693</u> |
| Total | Å ' | 7572 | 6462 | 14,034 |

SYSTEM 5B. LIQUID N & P DEEP BANDED IN THE SPRING

Fall cultivation

time required= 54 h (System 1)

Spring cultivation-banding

time required= 62.3 h (System 4B, fall cultivation-band)

Seeding

time required= 50.1 h (System 1)

Total time required for System 5B

Fall 54 h Spring 112.4 h Total 166.4 h

Yearly machinery costs for System 5B= \$12,383

(same as System 4B)

SYSTEM 6. N BROADCAST IN THE FALL, P IN-ROW IN THE SPRING

Fall broadcasting

time required= 27.7 h (System 1)

Fall cultivation

time required= 54 h (System 1)

Spring cultivation

time required= 54 h-(System 1)

Seeding

time required= 52.5 h (System 1)

Time required for System 6

Fall 81.7 h Spring 106.5 h Total 188.2 h

Yearly machinery costs for System 6= \$11,184

(same as System 1)

SYSTEM 7. N & P BROADCAST IN THE FALL

Fall broadcasting

field coverage time = 24 h (System 1)

fill-up time

amount of fertilizer blend to be applied

189 kg/ha (same as System 4)

189 kg/ha * 325 ha= 61425 kg

number of loads to be applied

61425 kg/(4000 kg/load)= 16 loads

time required to fill one load= 0.332 h (System 1)
total fill-up time= 16 loads * 0.332 h/load= 5.3 h

Total broadcasting time= 24 h + 5.3 h= 29.3 h

Fall cultivation

time required= 54 h (System 1)

Spring cultivation

time required= 54 h (System 1)

Seeding

field coverage time= 44.8 h (System 1)
fill-up time

seed= 0.089 h/drill (System 1)

set up= 0.15 h/drill (no fertilizer to handle)

number of fill-ups required= 22 (System 1)
total fill-up time= 22 * (0.089+0.15)= 5.3 h

Total seeding time= 44.8 h + 5.3 h= 50.1 h

Time required for System 7

Fall83.3 hSpring104.1 hTotal187.4 h

-1

Yearly machinery costs (\$) for System 7 (Andruchow 1982)

| Machine | <u>Hours</u> of <u>Use</u> | Fixed Cost | <u>Variable</u> <u>Cost</u> | <u>Total</u> Cost |
|-----------------|---|------------|-----------------------------|----------------------|
| Tractor | 187.4 | 2096 | 3818 | 5914 |
| Cultivator | - 108 | 1029 | 712 | 1741 |
| Mounted harrows | 108 | 188 | 39 | 227 |
| Broadcaster | 29.3 | 265 | 131 | 396 |
| Seed drill | 50.1 | 1954 | 815 | 2769 |
| Total | алан алан алан алан алан алан алан алан | 5532 | 5515 | 11,047 |

SYSTEM 8. N & P BROADCAST IN THE SPRING

Fall cultivation

time required= 54 h (System1)

Spring broadcasting

time required= 29.3 h (System 7)

Spring cultivation

time required= 54 h (System 1)

Seeding

time required= 50.1 h (System 7)

Time required for System 8

Fall 54 h Spring 133.4 h Total 187.4 h

Yearly machinery costs for System 8= \$11,047 (System 7)

Since System 8 involves the same amount of time spent in the field and uses the same equipment as System 7, the machinery costs are also the same.

SYSTEM 9. N & P SIDEBANDED IN THE SPRING

ولغ ا

Fall cultivation

t'ime required= 54 h (System 1)

Spring cultivation

time required= 54 h (System 1)

Seeding-banding

"field coverage time

C = (S W E) / 10

S= 8 km/h W= 11.2 m E= 0.825

C= (8*11.2*0.825)/10= 7.4 ha/h

field coverage time= 325 ha/(7.4 ha/h) = 43.9 h

fill-up time

capacity of drill= 1083 kg of seed and 1804 kg of fertilizer

require 90 kg/ha of seed and 189 kg/ha of

fertilizer blend

۰.,

Therefore, fertilizer is the limiting factor. area covered by one drill= 1804 kg/(189 kg/ha)= 9.5 ha amount of fertilizer required per drill= 1804 kg capacity of drill fill in fertilizer= 9500 kg/h time required to fill drill with fertilizer

1804 kg/(9500 kg/h)= 0.19 h amount of grain required per drill

90 kg/ha * 9.5 ha= 855 kg

capacity of drill fill in grain= 15600 kg/h

(Appendix 3)

time required to fill drill with grain

855 kg/(15600 kg/h) = 0.055 h

set up time required= 0.166 h/drill

number of fill-ups required

325 ha/(9.5 ha/fill-up)= 35

total time for fill-ups= 35 * (0.19+0.055+0.166)h= 14.4 h

Total seeding time= 43.9 h + 14.4 h= 58.3 h

Harrow-packing time= 24 h (System 2B)

Time required for System 9

Fall 54 h Spring 136.3 h Total 190.3 h

129

Yearly machinery costs (\$) for System 9 (Andruchow 1982)

| Machine | Hours of Use | Fixed Cost | Variable | <u>Cost</u> <u>Cost</u> | |
|---------------|-----------------|------------|------------|-------------------------|--|
| Tractor | 190.3 | 2128 | 3878 | 6006 | |
| Cultivator | 108 | 1029 | 712 | 1741 | |
| Mounted harro | ws 108 | 188 | 39 | 227 | |
| Harrow-packer | 24 | 578 | 115 | 693 | |
| Seed drill | 58.3 | 2025 | <u>835</u> | 2860 | |
| Total | • | 5948 | 5579 | 11,527 | |

The cost of the end wheel seed drill was adjusted upwards by 19% from the table value to allow for the cost of the second set of openers required for sidebanding. The cost of the sidebanding openers was obtained by telephone conversation with an IHC sales representative in Edmonton, Alberta. APPENDIX 7. CALCULATION OF TOTAL COSTS AND NET REVENUE

SYSTEM 1. N BROADCAST IN THE SPRING, P IN-ROW IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 100

Grain yield= 1.35 t/ha + 1.85 t/ha(1.00)= 3.2 t/ha

Production= 3.2 t/ha * 325 ha= 1040 t

Gross revenue= 1040 t * \$125/t= \$130,000

Fertilizer cost (spring purchased)

(65 kg of N/ha * \$.63/kg of N) +

(13 kg of P/ha * \$1.43/kg of P)=

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12) = \$1,209

Fertilizer cost (fall purchased)

(65 kg of N/ha * \$.57/kg of N) +

(13 kg of P/ha * \$1.32/kg of P)=

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$11,184

Labour cost= 188.2 h * \$10/h= \$1,882

Total costs (spring purchased fertilizer)= \$33,626

Total costs (fall purchased fertilizer)= \$33,327

Net revenue (spring purchased fertilizer)

\$130,000 - \$33,626= \$96,374

130

Net revenue (fall purchased fertilizer)

\$130,000 - \$33,327= \$96,673

Medium Soil Moisture

Calculations for the medium soil moisture condition are assumed to be the same as for the low soil moisture condition because the same fertilizer effectiveness rating is used.

High Soil Moisture

Calculations for the high soil moisture condition are assumed to be the same as for the low soil moisture condition because the same fertilizer effectiveness rating is used.

SYSTEM 2A. N BANDED IN THE SPRING WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 115
Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha
Production= 3.48 t/ha * 325 ha= 1131 t
Gross revenue= 1131 t * \$125/t= \$141,375
Fertilizer cost (spring purchased)

(60 kg of N/ha * \$.55/kg of N) +
(5 kg of N/ha * \$.63/kg of N) +
(13 kg of P/ha * \$1.43/kg of P)=

\$54.74/ha * 325 ha= \$17,791

Interest cost on spring purchased fertilizer

\$17,791 * 0.15 * (5/12) = \$1,112

Fertilizer cost (fall purchased P, N must be purchased

in the spring as the farmer cannot store it)

(60 kg of N/ha * \$.55/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P/ha * \$1.32/kg of P) =

\$53.01/ha * 325 ha= \$17,228

Interest cost on spring purchased N, fall purchased P

(\$10,725 * 0.15 * (5/12)) + (\$6,503 * 0.15)= \$1,646

Machinery cost= \$10,345

Labour cost= 163 h * \$10/h = \$1,630

Total costs (spring purchased fertilizer) = \$30,878

Total costs (fall purchased P, spring purchased N)= \$30,849

Net revenue (spring purchased fertilizer)

\$141,375 - \$30,878= \$110,497

Net revenue (fall purchased P, spring purchased N)

\$141,375 - \$30,849= \$110,526

Medium Soil Moisture

Fertilizer effectiveness rating= 110
Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha
Production= 3.385 t/ha * 325 ha= 1100 t
Gross revenue= 1100 t * \$125/t= \$137,500
Total costs (spring purchased fertilizer)= \$30,878

(same as for Low Soil Moisture)
Total costs (fall purchased P, spring purchased N)= \$30,849 (same as for Low Soil Moisture)

Net revenue (spring purchased fertilizer)

*\$137,500 - \$30,878= \$106,622

Net revenue (fall purchased P, spring purchased N)

\$137,500 - \$30,849= \$106,651

High Soil Moisture

The fertilizer effectiveness rating for high soil moisture is the same as for medium soil moisture. Therefore the cost and revenue calculations are the same as well.

SYSTEM 2B. N BANDED IN THE SPRING WITH AIR SEEDER, P IN-ROW IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 115

Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha

Production= 3.48 t/ha * 325 ha= 1131 t

Gross revenue= 1131 t * \$125/t= \$141,375

Fertilizer cost (spring purchased fertilizer)

(65 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P) = \$59.54/ha

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209

Fertilizer cost (fall purchased fertilizer)

()

(65 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$14,293

Labour cost= 196 h * \$10/h= \$1,960

Total costs (spring purchased fertilizer) = \$36,813

Total costs (fall purchased fertilizer) = \$36,514

Net revenue (spring purchased fertilizer)

\$141,375 - \$36,813= \$104,562

Net revenue (fall purchased fertilizer)

\$141,375 - \$36,514= \$104,861

Medium Soil Moisture

Fertilizer effectiveness rating= 110
Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha
Production= 3.385 t/ha * 325 ha= 1100 t
Gross revenue= 1100 t * \$125/t= \$137,500
Fertilizer cost (spring purchased fertilizer)

(65 kg of N/ha * \$.6}/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$59.54/ha

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209

Fertilizer cost (fall purchased fertilizer)

(65 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$14,293

Labour cost= 196 h * \$10/h= \$1,960

Total costs (spring purchased fertilizer)= \$36,813

Total costs (fall purchased fertilizer)= \$36,514

Net revenue (spring purchased fertilizer)

\$137,500 - \$36,813= \$100,687

Net revenue (fall purchased fertilizer)

\$137,500 - \$36,514= \$100,986

High Soil Moisture

The fertilizer effectiveness rating for high soil moisture is the same as medium soil moisture. Therefore, the revenue and cost calculations are the same as for medium soil moisture.

SYSTEM 3A. N BANDED IN THE FALL WITH AMMONIA LIQUIFYING UNIT, P IN-ROW IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 115

Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha

Production= 3.48 t/ha * 325 ha= 1131 t

Gross revenue= 1131 t * \$125/t= \$141,375

Fertilizer cost (fall purchased N, spring purchased P)

(60 kg of N/ha * \$.50/kg.of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$51.74/ha

\$51.74/ha * 325 ha= \$16,816

Interest cost on fall purchased N, spring purchased P

(\$9,750 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$1,904 Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.50/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 k of P * \$1.32/kg of P)= \$50.01/ha

\$50.01/ha * 325 ha= \$16,253

Interest cost on fall purchased fertilizer

\$16,253 * 0,15= \$2,438

Machinery cost= \$10,345

Labour cost= 163 h * \$10/h= \$1,630

Total costs (spring purchased fertilizer) = \$30,695

Total costs (fall purchased fertilizer) = \$30,666

Net revenue (spring purchased fertilizer)

\$141,375 - \$30,695= \$110,680

Net revenue (fall purchased fertilizer)

\$141,375 - \$30,666= \$110,709

Medium Soil Moisture

Fertilizer effectiveness rating= 95
Grain yield= 1.35 t/ha + 1.85 t/ha(0.95)= 3.108 t/ha

Production= 3.108 t/ha * 325 ha= 1010 t

Gross revenue= 1010 t * \$125/t= \$126,250

Fertilizer cost (fall purchased N, spring purchased P)

(60 kg of N/ha * \$.50/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$51.74/ha

\$51.74/ha * 325 ha= \$16,816

Interest cost on fall purghased N, spring purchased P

(\$9,750 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$1,904 Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.50/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$50.01/ha

\$50.01/ha * 325 ha= \$16,253

Interest cost on fall purchased fertilizer

\$16,253 * 0.15= \$2,438

Machinery cost= \$10,345

Labour cost= 163 h * '\$10/h= \$1,630

Total costs (spring purchased fertilizer)= \$30,695

Total costs (fall purchased fertilizer) = \$30,666

Net revenue (spring purchased fertilizer)

\$126,250 - \$30,695= \$95,555

Net revenue (fall purchased fertilizer)

\$126,250 - \$30,666= \$95,584

High Soil Moisture

Fertilizer effectiveness rating= 85

Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 2.92 t/ha

Production= 2.92 t/ha * 325 ha= 949 t

Gross revenue= 949 t * \$125/t= \$118,625

Fertilizer cost (fall purchased N, spring purchased P)

(60 kg of N/ha * \$.50/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$51.74/ha

\$51.74/ha * 325 ha= \$16,816

Interest cost on fall purchased N, spring purchased P

(\$9,750 * 0.15) + (\$7,066 * 0.15 * (5/12)) = \$1,904 Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.50/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$50.01/ha

\$50.01/ha * 325 ha= \$16,253

Interest cost on fall purchased fertilizer

\$16,253 ***** 0.15= \$2,438

Machinery cost= \$10,345

Labour cost= 163 h * \$10/h= *\$1,630

Total costs (spring purchased fertilizer)= \$30,695

Total costs (fall purchased fertilizer) = \$30,666

• Net revenue (spring purchased fertilizer)

\$1.18,625 - \$30,695= \$87,930

Net revenue (fall purchased fertilizer 🔭 🗌

\$118,625 - \$30,666= \$87,959

SYSTEM 3B. N BANDED IN THE FALL WITH AIR SEEDER, P IN-ROW IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 115

Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha

Production= 3.48 t/ha * 325 ha= 1131 t

Gross revenue= 1131 t * \$125/t= \$141,375

Fertilizer cost (fall purchased N, spring purchased P)

(60 kg of N/ha * \$.57/kg of 'N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$55.94/ha

\$55.94/ha * 325 ha= \$18,181

Interest cost on fall purchased N, spring purchased P

(\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109 Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$..57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$11,605

Labour cost= 142 h * \$10/h = \$1,420

Total costs (spring purchased fertilizer)= \$33,315 Total costs (fall purchased fertilizer)= \$33,286 Net revenue (spring purchased fertilizer) \$141,375 - \$33,315= \$108,060
Net revenue (fall purchased fertilizer)
\$141,375 - \$33,286= \$108,089

Medium Soil Moisture

Fertilizer effectiveness rating= 95

Grain yield= 1.35 t/ha + 1.85 t/ha(0.95)= 3.108 t/ha

Production= 3.108 t/ha * 325 ha= 1010 t

Gross revenue= 1010 t * \$125/t= \$126,250

Fertilizer cost (fall purchased N, spring purchased P)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P) = \$55.94/ha

\$55.94/ha * 325 ha= \$18,181

Interest cost on fall purchased N, spring purchased P

(\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109 -

Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$11,605

Labour cost= 142 h * \$10/h = \$1,420

Total costs (spring purchased fertilizer) = \$33,315

Total costs (fall purchased fertilizer) = \$33,286

Net revenue (spring purchased fertilizer)

\$126,250 - \$33,315= \$92,935

Net revenue (fall purchased fertilizer)

\$126,250 - \$33,286= \$92,964

High Soil Moisture

Fertilizer effectiveness rating= 85 Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 2.92 t/ha Production= 2.92 t/ha * 325 ha= 949 t Gross revenue= 949 t * \$125/t= \$118,625 Fertilizer cost (fall purchased N, spring purchased P) (60 kg of N/ha * \$.57/kg of N) + , (5 kg of N/ha * \$.63/kg of N) + (13 kg of P * \$1.43/kg of P) = \$55.94/ha\$55.94/ha * 325 ha= \$18,181 Interest cost on fall purchased N, spring purchased P (\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) +, (5 kg of N/ha * \$.57/kg of N) + (13 kg of P * \$1.32/kg of P)= \$54.21/hæ \$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643

Machinery cost= \$11,605

Labour cost= 142 h * \$10/h = \$1,420

Total costs (spring purchased fertilizer) = \$33,315

Total costs (fall purchased fertilizer) = \$33,286

Net revenue (spring purchased fertilizer)

\$118,625 - \$33,315= \$85,310

Net revenue (fall purchased fertilizer)

\$118,625 - **\$**33,286= \$85,339

SYSTEM 4A. GRANULAR N & P DEEP BANDED IN THE FALL

Low Soil Moisture

Fertilizer effectiveness rating= 115
Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha
Production= 3.48 t/ha * 325 ha= 1131 t
Gross revenue= 1131 t * \$125/t= \$141,375
Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.2/1/ha

\$54.21/ha *°325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Machinery cost= \$11,347

Labour cost= 139 h * \$10/h= \$1,390

Total costs= \$32,998

Net revenue= \$141,375 - \$32,998= \$108,377

Medium Soil Moisture

Fertilizer effectiveness rating= 95 Grain yield= 1.35 t/ha + 1.85 t/ha(0.95)= 3.108 t/ha Production= 3.108 t/ha * 325 ha= 1010 t Gross revenue= 1010 t * \$125/t= \$126,250 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) + (5 kg of N/ha * \$.57/kg of N) +(13 kg of P * \$1.32/kg of P)= \$54.21/ha \$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Machinery cost= \$11,347 Labour cost= 139 h * \$10/h = \$1,390Total costs= \$32,998 Net revenue= \$126,250 ~ \$32,998= \$93,252 High Soil Moisture Fertilizer effectiveness rating= 85 Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 2.92 t/ha

Production= 2.92 t/ha * 325 ha= 949 t

Gross revenue= 949 t * \$125/t= \$118,625

Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643 Machinery cost= \$11,347

Labour cost= 139 h * \$10/h = \$1,390

Total costs= \$32,998

Net revenue= \$118,625 - \$32,998= \$85,627

SYSTEM 4B. LIQUID N & P DEEP BANDED IN THE FALL

Low Soil Moisture

.Fertilizer effectiveness rating= 115

Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha

Production= 3.48 t/ha * 325 ha= 1131 t

Gross revenue= 1131 t * \$125/t= \$141,375

Fertilizer cost (fall purchased fertilizer)

(65 kg of N/ha \star \$.64/kg of N) +

(13 kg of P * \$1.50/kg of P)= \$61.10/ha

\$61.10/ha * 325 ha= \$19,858

Interest cost on fall purchased fertilizer

\$19,858 * 0.15= \$2,979
Machinery cost= \$12,383
Labour cost= 168.8 h * \$10/h= \$1,688
Total costs= \$36,908
Net revenue= \$141,375 - \$36,908= \$104,467

Medium Soil Moisture

Fertilizer effectiveness rating= 95

Grain yield= 1.35 t/ha + 1.85 t/ha(0.95)= 3.108 t/ha
Production= 3.108 t/ha * 325 ha= 1010 t
Gross revenue= 1010 t * \$125/t= \$126,250
Fertilizer cost (fall purchased fertilizer)

(65 kg of N/ha * \$.64/kg of N) +

(13 kg of P * \$1.50/kg of P)= \$61.10/ha

\$61.10/ha * 325 ha= \$19,858

Interest cost on fall purchased fertilizer

\$19,858 * 0.15= \$2,979
Machinery cost= \$12,383
Labour cost= 168.8 h * \$10/h= \$1,688
Total costs= \$36,908
Net revenue= \$126,250 - \$36,908= \$89,342

High Soil Moisture

Fertilizer effectiveness rating= 85
Grain yield= 35 t/ha + 1.85 t/ha(0.85)= 2.92 t/ha*
Production= 2.92 t/ha * 325 ha= 949 t
Gross revenue= 949 t * \$125/t= \$118,625
Fertilizer cost'(fall purchased fertilizer)

(65 kg of N/ha * \$.64/kg of N) +

(13 kg of P * \$1.50/kg of P) = \$61.10/ha

\$61.10/ha * 325 ha= \$19,858

Interest cost on fall purchased fertilizer

\$19,858 * 0.15= \$2,979

Machinery cost= \$12,383

Net revenue= \$118,625 - \$36,908= \$81,717

SYSTEM 5A. GRANULAR N & P DEEP BANDED IN THE SPRING

Low Soil Moisture Fertilizer effectiveness rating= 115 Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha Production= 3.48 t/ha * 325 ha= 1131 t Gross revenue= 1131 t * \$125/t= \$141,375 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) + (-5 kg of N/ha * \$.57/kg of N) +(13 kg of P * \$1.32/kg of P) = \$54.21/ha\$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Fertilizer cost (spring purchased fertilizer) (60 kg of N/ha * \$.63/kg of N) +(5 kg of N/ha * \$.63/kg of N) +(13 kg of P * \$1.43/kg of P) = \$59.54/ha\$59.54/ha * 325 ha= \$19,351

" Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12) = \$1,209

Machinery cost= \$14,034

Labour cost= 193 h * \$10/h = \$1,930

Total costs (spring purchased fertilizer)= \$36,524 Total costs (fall purchased fertilizer)= \$36,225 Net revenue (spring purchased fertilizer)

\$141,375 - \$36,524= \$104,851
Net revenue (fall purchased fertilizer)

\$141,375 - \$36,225= \$105,150

Medium Soil Moisture

Fertilizer effectiveness rating= 110

Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha

Production= 3.385 t/ha * 325 ha= 1100 t

Gross revenue= 1100 t * \$125/t= \$137,500

Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Fertilizer cost (spring purchased fertilizer)

(60 kg of N/ha * **\$.63**/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P) = \$59.54/ha

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209

Machinery cost= \$14,034

Labour cost= 193 h * \$10/h= \$1,930 Total costs (spring purchased fertilizer)= \$36,524 Total costs (fall purchased fertilizer)= \$36,225 Net revenue (spring purchased fertilizer)

\$137,500 - \$36,524= \$100,976
Net revenue (fall purchased fertilizer)
\$137,500 - \$36,225= \$101,275

High Soil Moisture

s,

Fertilizer effectiveness rating= 110 Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha Production= 3.385 t/ha * 325 ha= 1100 t Gross revenue= 1100 t * \$125/t= \$137,500 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) + (5 kg of N/ha * \$.57/kg of N) + (13 kg of P * \$1.32/kg of P) = \$54.21/ha\$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Fertilizer cost (spring purchased fertilizer) (60 kg of N/ha * \$.63/kg of N) +(5 kg of N/ha * \$.63/kg of N) + (13 kg of P * \$1.43/kg of P) = \$59.54/ha\$59.54/ha * 325 ha= \$19,351 Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209
Machinery cost= \$14,034
Labour cost= 193[%]h * \$10/h= \$1,930
Total costs (spring purchased fertilizer)= \$36,524
Total costs (fall purchased fertilizer)= \$36,225
Net revenue (spring purchased fertilizer)

\$137,500 - \$36,524= \$100,976

Net revenue (fall purchased fertilizer)

\$137,500 - \$36,225= \$101,275

SYSTEM 5B. LIQUID N & P DEEP BANDED IN THE SPRING

Low Soil Moisture Fertilizer effectiveness rating= 115 Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha Production= 3.48 t/ha * 325 ha= 1131 t Gross revenue= 1131 t * \$125/t= \$141,375 Fertilizer cost (spring purchased fertilizer) (65 kg of N/ha * \$.71/kg of N) + (13 kg of P * \$1.65/kg of P)= \$67.60/ha \$67.60/ha * 325 ha= \$21,970 Interest cost on spring purchased fertilizer \$21,970 * 0.15 * (5/12)= \$1,373 Machinery cost= \$12,383

Labour cost= 168.8 h * \$10/h= \$1,688

Total costs= \$37,414

149

Net revenue

\$141,375 - \$37,414= \$103,961

Medium Soil Moisture

Fertilizer effectiveness rating= 110

Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha

9 Production= 3.385 t/ha * .325 ha= 1100 t

Gross revenue= 1100 t * \$125/t= \$137,500

Fertilizer cost (spring purchased fertilizer)

 $(65 \text{ kg of N/ha} * \$.71/\text{kg of N})^{\circ} +$

(13 kg of P * \$1.65/kg of P) = \$67.60/ha

\$67.60/ha * 325 ha= \$21,970

Interest cost on spring purchased fertilizer

\$21,970 * 0.15 * (5/12) = \$1,373

Machinery cost= \$12,383

Labour cost= 168.8 h * \$10/h= \$1,688

Total costs= \$37,414

Net revenue

\$137,500 - \$37,414= \$100,086

High Soil Moisture

Fertilizer effectiveness rating= 110
Grain yield= 1.35 t/ha + 1.85 t/ha(1.10)= 3.385 t/ha
Production= 3.385 t/ha * 325 ha= 1100 t
Gross revenue= 1100 t * \$125/t= \$137,500
Fertilizer cost (spring purchased fertilizer)

(65 kg of N/ha * \$.71/kg of N) +

 \bigcirc

(13 kg of P * \$1.65/kg of P)= \$67.60/ha

\$67.60/ha * 325 ha= \$21,970

Interest cost on spring purchased fertilizer

\$21,970 * 0.15 * (5/12)= \$1,373

Machinery cost= \$12,383

Labour cost= 168.8 h * \$10/h= \$1,688

Total costs= \$37,414

Net revenue

\$137,500 - \$37,414= \$100,086

SYSTEM 6. N BROADCAST IN THE FALL, P IN-ROW IN THE SPRING

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P) = \$55.94/ha

\$55.94/ha * 325 ha= \$18,181

Interest cost on fall purchased N, spring purchased P

(\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109

Machinery cost= \$11,184

Labour cost= 182.2 h * \$10/h= \$1,882

Total costs (spring purchased fertilizer) = \$33,356

Total costs (fall purchased fertilizer) = \$33,327

Net revenue (spring purchased fertilizer)

\$130,000 - \$33,356= \$96,644

Net revenue (fall purchased fertilizer)

\$130,000 - \$33,327= \$96,673

Medium Soil Moisture

Fertilizer effectiveness rating= 85
Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 2.92 t/ha
Production= 2.92 t/ha * 325 ha= 949 t
Gross revenue= 949 t * \$125/t= \$118,625
Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P) = \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15- \$2,643

Fertilizer cost (spring purchased P)

153

(60 kg or N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$55.94/ha

\$55.94/ha * 325 ha= \$18,181

Interest cost on fall purchased N, spring purchased P

(\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109 Machinery cost= \$11,184

Labour cost= 182.2 h * \$10/h = \$1,882

Total costs (spring purchased fertilizer)= \$33,356

Total costs (fall purchased fertilizer)= \$33,327

Net revenue (spring purchased fertilizer)

\$118,625 - \$33,356= \$85,269

Net revenue (fall purchased fertilizer)

\$118,625 - \$33,327= \$85,298

High Soil Moisture

Fertilizer effectiveness rating= 80 Grain yield= 1.35 t/ha + 1.85 t/ha(0.80)= 2.83 t/ha Production= 2.83 t/ha * 325 ha= 920 t Gross revenue= 920 t * \$125/t= \$115,000 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) + (5 kg of N/ha * \$.57/kg of N) + (13 kg of P * \$1.32/kg of P)= \$54.21/ha \$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Fertilizer cost (spring purchased P)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha *[°]\$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$55.94/ha

\$55.94/ha * 325 ha= \$18,181

Interest cost on fall purchased N, spring purchased P

(\$11,115 * 0.15) + (\$7,066 * 0.15 * (5/12))= \$2,109
Machinery cost= \$11,184
Labour cost= 182.2 h * \$10/h= \$1,882
Total costs (spring purchased fertilizer)= \$33,356
Total costs (fall purchased fertilizer)= \$33,327
Net revenue (spring purchased fertilizer)

\$115,000 - \$33,356= \$81,644
Net revenue (fall purchased fertilizer)
\$115,000 - \$33,327= \$81,673

SYSTEM 7. N & P BROADCAST IN THE FALL

- Low Soil Moisture Fertilizer effectiveness rating= 66 Grain yield= 1.35 t/ha + 1.85 t/ha(0.66)= 2.57 t/ha Production= 2.57 t/ha * 325 ha= 835 t Gross revenue= 835 t * \$125/t= \$104,375 Fertilizer cost (fall purchased fertilizer) (60 kg_of_N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) at (13 kg of P * \$1.32/kg of P) = \$54.21/ha\$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0:15= \$2,643 Machinery cost= \$11,047 Labour cost = 187.4 h * 10/h = 1.874Total costs= \$33,182 Net revenue= \$104,375 - \$33,182= \$71,193 Medium Soil Moisture Fertilizer effectiveness rating= 56 Grain yield= 1.35 t/ha + 1.85 t/ha(0.56)= 2.386 t/ha Production= 2.386 t/ha * 325 ha= 775 t Gross revenue= 775 t * #425/t= \$96,875 Fertilizer cost (fall purchased fert (60 kg of N/ha * \$.57/kg of N) (5, kg of N/ha # \$.577kg of N) + ,a (13 kg of P * \$1.32/kg of P) = \$54.21/ha\$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Machinery cost= \$11,047 Labour cost= 187.4 h * \$10/h= \$1,874 Total costs= \$33,182 Net revenue= \$96,875 - \$33,182= \$63,693

155

High Soil Moisture

Fertilizer effectiveness rating= 53
Grain yield= 1.35 t/ha + 1.85 t/ha(0.53)= 2.33 t/ha
Production= 2.3\$ t/ha * 325 ha= 757 t
Gross revenue= 757 t * \$125/t= \$94,625
Fertilizer cost (fall purchased fertilizer)
 (60 kg of N/ha * \$.57/kg of N) +
 (5 kg of N/ha * \$.57/kg of N) +
 (13 kg of P * \$1.32/kg of P)= \$54.21/ha
 \$54.21/ha * 325 ha= \$17,618
Interest cost on fall purchased fertilizer
 \$17,618 * 0.15= \$2,643
Machinery cost= \$11,047
Labour cost= 187.4 h * \$10/h= \$1,874
Total costs= \$33,182
Net revenue= \$94,625 - \$33,182= \$61,443.

SYSTEM 8. N & P BROADCAST IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 66

Grain yield= 1.35 t/ha + 1.85 t/ha(0.66)= 2.571 t/ha

Production= 2.571 t/ha * 325 ha= 836 t

Gross ______ gevenue= 836 t * \$125/t= \$104,500

Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg_of N) + 🖕

(5 kg of N/ha * \$.57/kg of N) + (13 kg of P * \$1.32/kg of P)= \$54.21/ha \$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Fertilizer cost (spring purchased P) (60 kg of N/ha * \$.63/kg of N) + (5 kg of N/ha * \$.63/kg of N) +(13 kg of P * \$1.43/kg of P) = \$59.54/ha\$59.54/ha * 325 ha= \$19,351 Interest cost on spring purchased fertilizer \$19,351 * 0.15 * (5/12)= \$1,209 Machinery cost= \$11,047 Labour cost= 187.4 h * \$10/h= \$1,874 Total costs (spring purchased fertilizer)= \$33,481 Total costs (fall purchased fertilizer) = \$33,182 Net revenue (spring purchased fertilizer) \$104,500 - \$33,481= \$71,019

Net revenue (fall purchased fertilizer)

\$104,500 - \$33,182= \$71,318

Medium Soil Moisture

The fertilizer effectiveness rating for medium soil moisture is the same as for low soil moisture. Therefore, the revenue and cost figures are the same as for low soil moisture.

157

High Soil Moisture

The fertilizer effectiveness rating for high soil moisture is the same as for low soil moisture. Therefore, the revenue and cost figures are the same as for low soil moisture.

SYSTEM 9. N & P SIDEBANDED IN THE SPRING

Low Soil Moisture

Fertilizer effectiveness rating= 115
Grain yield= 1.35 t/ha + 1.85 t/ha(1.15)= 3.48 t/ha
Production= 3.48 t/ha * 325 ha= 1131 t
Gross revenue= 1131 t * \$125/t= \$141,375
Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

Fertilizer cost (spring purchased fertilizer)

(60 kg of N/ha * \$.63/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$59.54/ha

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209

Machinery cost= \$11,527

Labour cost = 190.3 h * \$10/h= \$1,903 Total costs (spring purchased fertilizer) = \$33,990 Total costs (fall purchased fertilizer) = \$33,691

•

Net revenue (spring purchased fertilizer)

\$141,375 - \$33,990= \$107,385

Net revenue (fall purchased fertilizer)

\$141,375 - \$33,691= \$107 084

Medium Soil Moisture

Fertilizer effectiveness rating= 110 Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 3.385 t/ha Production= 3.385 t/ha * 325 ha= 1100 t Gross revenue= 1100 t * \$125/t= \$137,500 Fertilizer cost (fall purchased fertilizer) (60 kg of N/ha * \$.57/kg of N) +(5 kg of N/ha * \$.57/kg of N) +(13 kg of P * \$1.32/kg of P)= \$54.21/ha \$54.21/ha * 325 ha= \$17,618 Interest cost on fall purchased fertilizer \$17,618 * 0.15= \$2,643 Fertilizer cost (spring purchased fertilizer) (60 kg of N/ha * \$.63/kg of N) + (5 kg of N/ha * \$.63/kg of N) +(13 kg of P * \$1.43/kg of P) = \$59.54/ha\$59.54/ha** 325 ha= \$19,351

Interest cost on spring purchased fertilizer.

\$19,351 * 0.15 * (5/12)= \$1,209
Machinery cost= \$11,527
Labour cost= 190.3 h * \$10/h= \$1,903
Total costs (spring purchased fertilizer)= \$33,990
Total costs (fall purchased fertilizer)= \$33,691
Net revenue (spring purchased fertilizer)

\$137,500 - \$33,990= \$103,510

Net revenue (fall purchased fertilizer)

\$137,500 - \$33,691= \$103,809

High Soil Moisture

Fertilizer effectiveness rating= 110
Grain yield= 1.35 t/ha + 1.85 t/ha(0.85)= 3.385 t/ha
Production= 3.385 t/ha * 325 ha= 1100 t
Gross revenue= 1100 t * \$125/t= \$137,500
Fertilizer cost (fall purchased fertilizer)

(60 kg of N/ha * \$.57/kg of N) +

(5 kg of N/ha * \$.57/kg of N) +

(13 kg of P * \$1.32/kg of P)= \$54.21/ha

\$54.21/ha * 325 ha= \$17,618

Interest cost on fall purchased fertilizer

\$17,618 * 0.15= \$2,643

~

Fertilizer cost (spring purchased fertilizer)

(60 kg of N/ha * \$.63/kg of N) +

(5 kg of N/ha * \$.63/kg of N) +

(13 kg of P * \$1.43/kg of P)= \$59.54/ha

\$59.54/ha * 325 ha= \$19,351

Interest cost on spring purchased fertilizer

\$19,351 * 0.15 * (5/12)= \$1,209

Machinery cost= \$11,527

Labour cost= 190.3 h * \$10/h= \$1,903

Total costs (spring purchased fertilizer) = \$33,990

Total costs (fall purchased fertilizer) = \$33,691

Net revenue (spring purchased fertilizer)

\$137,500 - \$33,990= \$103,510

Net revenue (fall purchased fertilizer)

\$137,500 - \$33,691= \$103,809